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NEW QUESTION 1
- (Exam Topic 3)
Refer to the exhibit.
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A network administrator sets up an OSPF routing protocol for a DMVPN network on the hub router. Which configuration required to establish a DMVPN tunnel with

multiple spokes?

A. ip ospf network point-to-multipoint on both spoke routers
B. ip ospf network point-to-point on the hub router

C. ip ospf network point-to-multipoint on One spoke router
D. ip ospf network point-to-point on both spoke routers

Answer: A
NEW QUESTION 2

- (Exam Topic 3)
Refer to the exhibit.

172.16.90.6/24

FO/

110

o
SW1 -

GO/0 App Server

10.30.2.100/24

o —

192.168.5.50/24

A network administrator must block ping from user 3 to the App Server only. An inbound standard access list is applied to R1 interface G0/0 to block ping. The
network administrator was notified that user 3 cannot even ping user 9 anymore. Where must the access list be applied in the outgoing direction to resolve the

issue?

A. R2 interface G1/0

B. R2 interface G0/0

C. SW1 interface G1/10
D. SW1 interface G2/21

Answer: D

NEW QUESTION 3
- (Exam Topic 3)
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Refer to the exhibit.

A shoe retail company implemented the uRPF solution for an antispoofing attack. A network engineer received the call that the branch A server is under an IP

spoofing attack. Which configuration must be implemented to resolve the attack?
A)
R4
interface ethernet0/1
ip unicast RPF check reachable-via any allow-default allow-self-ping

B)

R4

interface ethernet0/1

ip verity unicast source reachable-via any allow-default allow-self-ping

©)

R3

interface ethernet0/1

ip verify unicast source reachable-via any allow-default allow-self-ping

D)
R3

interface ethernet0/1
ip unicast RPF check reachable-via any allow-default allow-self-ping

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 4
- (Exam Topic 3)
A network administrator cannot connect to a device via SSH. The line vty configuration is as follows:

line vty 0 4

location 5421 TE0E2ZTFEE
sassion-timeout 10
transport prefarred ssh
transpart input all
transport cutput telnet ssh
stopbits 1

Which action resolves this issue?

A. Increase the session timeout

B. Change the stopbits to 10.

C. Configure the transport input SSH
D. initialize the SSH key

Answer: D

NEW QUESTION 5
- (Exam Topic 3)
Refer to the exhibit.
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ip sla 1

icmp-echo 8.8.8.8

threshold 1000

timecut 2000

frequency 5
ip sla schedule 1 life forever start-time now
'

track 1 ip sla 1

!

ip route 0.0.0.0 0.0.0.0 203.0.113.1 name ISPl track 1
ip route 0.0.0.0 0.0.0.0 198.51.100.1 2 name ISP2

The administrator noticed that the connection was flapping between the two ISPs instead of switching to ISP2 when the ISP1 failed. Which action resolves the
issue?

A. Include a valid source-interface keyword in the icmp-echo statement.

B. Reference the track object 1 on the default route through ISP2 instead of ISP1.
C. Modify the static routes to refer both to the next hop and the outgoing intertace.
D. Modify the threshold to match the administrative distance of the ISP2 route.

Answer: A

Explanation:
https://www.cisco.com/c/en/us/support/docs/ip/ip-routing/200785-1SP-Failover-withdefault- routes-using-1.html

NEW QUESTION 6
- (Exam Topic 3)

A. Redistribute the static metric in EIGRP.

B. Add the eigrp stub connected static command.
C. Redistribute the connected metric in EIGRP.
D. Remove the eigrp stub connected command.

Answer: B
NEW QUESTION 7

- (Exam Topic 3)
Refer to the exhibit.

BGP AS 9301

F RS LAERLLE R RLE o " w o

__OSPF 100 |

The Internet traffic should always prefer Site-A ISP-1 if the link and BGP connection are up; otherwise, all Internet traffic should go to ISP-2 Redistribution is
configured between BGP and OSPF routing protocols and it is not working as expected. What action resolves the issue?

A. Set metric-type 2 at Site-A RTR1, and set metric-type 1 at Site-B RTR2
B. Set OSPF cost 100 at Site-A RTR1, and set OSPF Cost 200 at Site-B RTR2
C. Set OSPF cost 200 at Site: A RTR1 and set OSPF Cost 100 at Site-B RTR2
D. Set metric-type 1 at Site-A RTR1, and set metric-type 2 at Site-B RTR2

Answer: D

Explanation:

OSPF type 1 route is always preferred over a type 2 route for the same destination so we can set metric-type 1 at Site-A RTR1 so that it is preferred over Site-B
RTR2.

Note:

Routes are redistributed in OSPF as either type 1 (E1) routes or type 2 (E2) routes, with type 2 being the default.

— A type 1 route has a metric that is the sum of the internal OSPF cost and the external redistributed cost.

— A type 2 route has a metric equal only to the redistributed cost.

— If routes are redistributed into OSPF as type 2 then every router in the OSPF domain will see the same cost to reach the external networks.

— If routes are redistributed into OSPF as type 1, then the cost to reach the external networks could vary from router to router.
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NEW QUESTION 8
- (Exam Topic 3)
Refer to the exhibit.
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An engineer is trying to connect to R1 via Telnet with no success. Which configuration resolves the issue?

tacacs server prod
address ipvd4 10.221.10.10
exit

& ip route 10.221.10.10 255.255.255.255 ethernat 0/1

tacacs server prod
address ipvd 10.221.10.11
exit

ip route 10.221.0.11 255.255.255.255 ethernet 0/1

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 9
- (Exam Topic 3)

An engineer configured VRF-Lite on a router for VRF blue and VRF red. OSPF must be enabled on each VRF to peer to a directly connected router in each VRF.

Which configuration forms OSPF neighbors over the network 10.10.10.0/28 for VRF blue and 192.168.0.0/30 for VRF red?

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.15 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.3 area 0

router ospf 1 vrf blue
network 10.10.10.0 0.0.0.240 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.252 area 0

router ospf 1 vrf blue
network 10.10.10.0 0.0.0.252 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.240 area 0

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.3 area 0
router ospf 2 vrf red

network 182.168.0.0 0.0.0.15 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 10
- (Exam Topic 3)
Refer to the exhibit.
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UsersW.2

snmp-senver group NETWIEW v3 priv read METVIEW
snmp-server group NETADMIN w3 priv read NETVIEW write
R1 | NETADMIN
snmp-senver community CiscOUs3r RO
snmp-server community CiscOwrus3r RW

ke

Core_Swl MMS/TFTP Server
10.221.10.11

A junior engineer configured SNMP to network devices. Malicious users have uploaded different configurations to the network devices using SNMP and TFTP

servers.
Which configuration prevents changes from unauthorized NMS and TFTP servers?

A. access-list 20 permit 10.221.10.11 access-list 20 deny any log!snmp-server group NETVIEW v3 priv read NETVIEW access 20snmp-server group NETADMIN
v3 priv read NETVIEW write NETADMIN access 20 snmp-server community CiscOUs3r RO 20snmp-server community CiscOwrus3r RW 20 snmp-server tftp-

server-list 20

B. access-list 20 permit 10.221.10.11 access-list 20 deny any log!snmp-server group NETVIEW v3 priv read NETVIEW access 20snmp-server group NETADMIN
v3 priv read NETVIEW write NETADMIN access 20 snmp-server community CiscOwrus3r RO 20snmp-server community CiscOUs3r RW 20 snmp-server tftp-

server-list 20
C. access-list 20 permit 10.221.10.11 access-list 20 deny any log
D. access-list 20 permit 10.221.10.11

Answer: A
NEW QUESTION 10

- (Exam Topic 3)
Refer to the exhibit.

AS 1000
(-10) / %2\ (.10)
o %

Internet Cloud
192.165.1ﬂ1.uy 192.168.102.0/24
AS100 (1) 7 N (2) AS 200
5P ( 4% ) (3%) 15P2
{_1]\ /{.2)

19:.153.111.0@% Am&.nz.um
AS 65500
E 00N s~ EON

(111) KR (M)
Customer Edge

The Customer Edge router (AS 65500) wants to use ASC100 as the preferred ISP for all external routes.

Customer Edge
route-map SETLP

set localspreference 111
|

router bgp 65500

neighbor 192.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP out
neighbor 192 168.112.2 remote-as 200

This configuration failed to send routes to AS 100 as the preferred path. Which set of configuration resolves the issue?
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route-map SETLP
set local-preference 111
!

reuter bgp 65500
neighbor 152.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP out

route-map SETLP
set lecal-preference 111
[

router bgp 66500
neighbor 182,168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP in

route-map SETFP
set as-path prepend 111 111
!

router bgp 65500
neighbor 192.168.111.1 remote-as 100
neighbor 182.168.111.1 route-map SETPP out

route-map SETPP

et az-path prepend 100 100

!

router bgp 65500

neighbor 192.168.111.1 remote-as 100
nelghbar 192 1681111 route-map SETPP in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 15
- (Exam Topic 3)
What must be configured by the network engineer to circumvent AS_PATH prevention mechanism in IP/VPN Hub and Spoke deployment scenarios?

A. Use allows in and as-override at all Pes.

B. Use allowas in and as-override at the PE-Hub.
C. Use Allowas-in the PE_Hub

D. Use as-override at the PE_Hub

Answer: D

NEW QUESTION 17
- (Exam Topic 3)
Which technique removes the outermost label of an MPLS-tagged packet before the packet is forwarded to an adjacent LER?

A. label swap

B. explicit-null

C. label imposition
D. PHP

Answer: D

NEW QUESTION 18
- (Exam Topic 3)

Acma com Group

RTG- 1[configi#ip vrf CompanyA

RTG- 1jconfig-vrfl@ interface GigakitEthennet 0'0
RTG-1[config-e ip wrf forwmrding Company A
RTG-1|config-ife ip addreas 1729622 255255 2550

Refer to the exhibit. An engineer must configure a per VRF for TACACS+ for company A. Which configuration on RTG-1 accomplishes the task?
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aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.1 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/0
ip vrf forwarding CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.3 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/1
ip vrf forwarding CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
sarver-private 172.16.1.1 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/1
ip vrf CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
sarver-private 172.16.1.3 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/0
ip vrif CompanyA

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 19
- (Exam Topic 3)

A newly Installeo router starts establishing an LDP session from another MPLS router to which it is not directly connected. Which LDP message type responds by
target router to the Initiating router using UDP protocol?

A. notification message

B. session message

C. extended discovery message
D. advertisement message

Answer: C

NEW QUESTION 20
- (Exam Topic 3)
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Refer to the exhibit Users from the 192 168.2.0/24 network cannot connect to the 172.16 2 32/28 network Which configuration resolves the issue'?
A)

R4(config)#ip route 0.0.0.0 0.0.0.0 172.16.2.1

B)

R1(config#route-map REDIST permit 10
R1(config-route-map #match ip address 15
R1(config-route-map = set metric 1000 10 255 1 1500
R1(config-route-map Fexit

R1(configp access-list 15 permit 192.168.2.0 0.0.255.255

C)

R1(config-router #router eigrp 100
R1{config-router #redistribute rip
R1(config-router isdefault-metric 10000 100 255 100 1500

D)

R1(config Frouter eigrp 100
R1(config-router #network 192.168.0.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 24
- (Exam Topic 3)
Which IPv6 first hop security feature controls the traffic necessary for proper discovery of neighbor device operation and performance?

A. RA Throttling

B. Source or Destination Guard
C. ND Multicast Suppression
D. IPv6 Snooping

Answer: D

NEW QUESTION 25
- (Exam Topic 3)

e W e BN ke e md Nt A Rt EWA

S R
changed state to up
¥LINEPROTO-5-UPDOWN ;
changed state to up
%LINEFROTQ-5-UPDOWN :
changed state to up
%0SPF-5-ADJCHG: Process 1, Wbr 10.1.1.2 on Ethernet0/0 from
LOADING to FULL, Loading Done

%BGP-3-NOTIFICATION: received from neighbor 192 168.200.1
active 6/7 (Connection Collision Resolution) 0 bytes
*BGP-5-NBR_RESET: Neighbor 192.168.200.1 active reset (BGP
Notification received)

RBGP-5-ADJCHANGE: neighbor 192.168 .200.1 active Down BGP
Notification racaived

*BGF SESSICN-S5-ADJCHANGE: neighbor 192.168.200.1 IPv4 Unicast
topolegy base removed from session EBGP Notification received

Line protocel on Interface Ethernet0/2,

Line protececl on Interface Ethernet0/3,

Refer to the exhibit. An engineer noticed that the router log messages do not have any information about when the event occurred. Which action should the
engineer take when enabling service time stamps to improve the logging functionality at a granular level?

A. Configure the debug uptime option
B. Configure the msec option
C. Configure the timezone option
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D. Configure the tog uptime option

Answer: D

NEW QUESTION 26
- (Exam Topic 3)
Refer to the exhibit.

R2 RS
80 20 |
m% 20 40 @ CoBWRe
20 40
SRS
R3 R4

R6 should reach R1 via R5>R2>R1. Which action resolves the issue?

Area

20

A. Increase the cost to 61 between R2-R3-R1
B. Increase the cost to 61 between R2 and R3
C. Decrease the cost to 2 between R6-R5-R2
D. Decrease the cost to 41 between R2 and R1

Answer: B

NEW QUESTION 27
- (Exam Topic 3)

Refer to the exhibit Which action resolves the issue?

A. Configure host IP address in access-list 16
B. Configure SNMPv3 on the router

C. Configure SNMP authentication on the router
D. Configure a valid SNMP community string

Answer: D
NEW QUESTION 29

- (Exam Topic 3)
Refer to the exhibit.

A [ |
I y
£0/0 \ ﬁ \'| tof1 £0/3

\ { '\;"II VLAN10
1.\ e

Rl Core Swl

IIEl

¥4 Server
102311011

During ISP router maintenance, the network produced many alerts because of the flapping interface. Which configuration on R1 resolves the issue?

A. no snmp trap link-status

B. snmp trap link-status down

C. snmp trap ip verify drop-rate

D. ip verify drop-rate notify hold-down 60

Answer: D

NEW QUESTION 32
- (Exam Topic 3)
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Refer to the exhibit. An engineer configured router R3 to redistribute the prefix 10.10.10.0/24 from OSPF into EIGRP R1 has no connectivity to the prefix. Which
action enables receipt of prefixes on R1?

A. R3 is advertising the 10.20.20 0'24 prefix with a TTL of 1, R3 must set the TTL to 2 for this prefix.
B. R1 docs not have a neighbor relationship with R2. The EIGRP process should be cleared on R1.
C. Duplicate router IDs on R1 and R3, R1 should modify its router ID.

D. R1 is not receiving the next-hop IP address of R3. R2 must enable the network 10 20.20.0V24 within EIGRP.

Answer: B

NEW QUESTION 36
- (Exam Topic 3)
Refer to the exhibit.
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A network engineer finds that PC1 is accessing the hotel website to do the booking but fails to make payment. Which action resolves the issue?

A. Allow stub network 10.10.202.168/30 on router R3 OSPF.
B. Decrease the AD to 5 OSPF route 192.168.94.0 on R1.
C. Increase the AD to 200 of static route 192.168.94.0 on R3.
D. Configure a reverse route on R1 for PC1 172.16.1.0/24.

Answer: A

NEW QUESTION 40
- (Exam Topic 3)
What is a function of IPv6 Source Guard?

A. It works with address glean or ND to find existing addresses.
B. It inspects ND and DHCP packets to build an address binding table.
C. It denies traffic from known sources and allocated addresses.
D. It notifies the ND protocol to inform hosts if the traffic is denied by it.

Answer: A

Explanation:

IPv6 source guard is an interface feature between the populated binding table and data traffic filtering. This feature enables the device to deny traffic when it is
originated from an address that is not stored in the binding table. IPv6 source guard does not inspect ND or DHCP packets;rather, it works in conjunction with IPv6
neighbor discovery (ND) inspection or IPv6 address glean, both of which detect existing addresses on the link and store them into the binding table.
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NEW QUESTION 41
- (Exam Topic 3)
Refer to the exhibit.
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A bank ATM site has difficulty connecting with the bank server. A network engineer troubleshoots the issue and finds that R4 has no active route to the bank ATM
site. Which action resolves the issue?

A. Advertise 10.10.30.0/24 subnet in R1 EIGRP AS.
B. EIGRP peering between R3 and R4 to be fixed.
C. EIGRP peering between R1 and R2 to be fixed.
D. Advertise 10.10.30.0/24 subnet in R3 EIGRP AS.

Answer: D
NEW QUESTION 43

- (Exam Topic 3)
Refer to the exhibit.

EIGRP
R4 AS100
10.1.1.0/24
172.16.1.0124 i, 172.16.2.0124
Fa0/0 o
R1 R2 R3
Routing Table
‘ 172.16.0.0/24 «

via Fa0/0
via Fa0/1

R4 is experiencing packet drop when trying to reach 172.16.2.7 behind R2. Which action resolves the issue?

A. Insert a /16 floating static route on R2 toward R3 with metric 254
B. Insert a /24 floating static route on R2 toward R3 with metric 254
C. Enable auto summarization on all three routers R1, R2, and R3
D. Disable auto summarization on R2

Answer: D

NEW QUESTION 45
- (Exam Topic 3)
Which rouler takes an active role between two LDP neighbors when initiating LDP session negotiation and LDP TCP connection establishment?

A. with the higher IP address

B. with the larger number of LDP TCP neighbors
C. with the lowest IP address

D. with one interface in the MPLS backbone

Answer: A

NEW QUESTION 48
- (Exam Topic 3)
Refer to the exhibit.
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RS# show ip ospf 1 | begin Area 36

Area 36

Mumber of interfaces in this area is 2

Itis a NSSA area

Area has no authentication

SPF algorithm last executed 00:32:46.376 ago
SFF algorithm executed 13 times

Area ranges are

172.16.0.0/16 Passive Advertise

The network engineer configured the summarization of the RIP routes into the OSPF domain on R5 but
still sees four different 172.16.0.0/24 networks on R4. Which action resolves the issue?

A. R5(config)#router ospf 1 R5(config-router)#no areaR5(config-router)#summary-address 172.16.0.0 255.255.252.0
B. R4(config)#router ospf 99R4(config-router)#network 172.16.0.0 0.255.255.255 area 56R4(config-router)#area 56 range 172.16.0.0 255,255.255.0
C. R4(config)#router ospf 1 R4(config-router)#no areaR4(config-router)#summary-address 172.16.0.0 255.255.252.0
D. R5(config)#router ospf 99R5(config-router)#network 172.16.0.0 0.255.255.255 area 56R5(config-router)#area 56 range 172.16.0.0 255.255.255.0

Answer: A

Explanation:

Area 36 is a NSSA so R5 is an ASBR so we can summarize external routes using the “summaryaddress” command. The command “area area-id range” can only
be used on ABR so it is not correct.

The summarization must be done on the ASBR which is R5, not R4 so the correct answer must be started with “R5(config)#router ospf 1”.

Note: The “no area” command is used to remove any existing “area ...” command (maybe “area 56 range ...” command).

NEW QUESTION 51
- (Exam Topic 3)
Refer to the exhibit.

Mo | 'Y, "F Damm — ._.. ‘A
— IKI‘ - el . ) - f‘r

N1

An engineer configured IP SLA on R1 to avoid the ISP link flapping problem. but it is not working as designed IP SLA should wait 30 seconds before switching
traffic to a secondary connection and then revert to the primary link after waning 20 seconds, when the primary link is available and stabilized. Which configuration
resolves the issue?

A. R1(config)#ip sla 700R1(config-ip-sla)#delay down 30 up 20
B. R1(config)#ip sla 700R1(config-ip-sla)#delay down 20 up 30
C. R1(config)#track 700 ip sla 700R1(config-track)#delay down 30 up 20
D. R1(config)#track 700 ip sla 700R1(config-track)#delay down 20 up 30

Answer: C
Explanation:

“wait 30 seconds before switching traffic to a secondary connection” -> delay down 30 “then revert to the primary link after waiting 20 seconds” -> up 20
Under the track object, you can specify delays so we have to configure delay under “track 700 ip sla 700" (not under “ip sla 7007).

NEW QUESTION 52
- (Exam Topic 3)
Exhibits:
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18,18, 1d.8/ 24

router bgp 100

neighbor 10.1.1.1 remote-as 100
neighber 10.1.2.2 remote-as 100
neighbor 10.1.3.3 remote-as 100

ASBR2

router bgp 100
neighbor 10.1.1.4 remote-as 100

ASBR2

router bgp 100
neighbor 10.1.1.4 remote-as 100

ASBR3

router bgp 100
naighboer 10.1.2.4 remota-as 100

ASBR4

router bgp 100
naighbor 10.1.3.4 remote-asz 100

Refer to the exhibit The administrator configured the network devices for end-to-end reachability, but the ASBRs are not propagating routes to each other Which
set of configurations resolves this issue?

router bgp 100

neighbor 10.1.1.1 route-reflector-client

neighbor 10.1.2.2 route-reflector-client
neighbor 10.1.3.3 route-reflector-client

router bgp 100

neighbor 10.1.1.1 update-source Loopback0
neighbor 10.1.2. 2 update-source Loopback
neighbor 10.1.3.3 update-source Loopback

router bgp 100

neighbor 10.1.1.1 next-hop-self
neighbor 10.1.2.2 next-hop-self
neighbor 10.1.3.3 next-hop-self

router bgp 100

neighbor 10.1.1.1 ebgp-multihop
neighbor 10.1.2.2 ebgp-multihop
neighbor 10.1.3.2 ebgp-multihop

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 54

- (Exam Topic 3)

An engineer is creating a policy that overrides normal routing behavior.if the route to a destination of 10.100.100.0/24 is withdrawn from the routing
Table, the policy must direct traffic to a next hop of 10.1 1.1. if the route is present in the routing table, then normal forwarding must occur. Which
configuration meets the requirements?

A. access-list 100 permit ip any any'!route-map POLICY permit 10 match ip address 100set ip next-hop recursive 10.1.1.1

B. access-list 100 permit ip any 10.100.100.0 0.0.0.255!Route-map POLICY permit 10 match ip address 100set ip default next-hop 10.1.1.1

C. access-list 100 permit ip any 10.100.100.0 0.0.0.255!route-map POLICY permit 10 match ip address 100set ip next-hop 10.1.1.1!route map POLICY permit 20
D. access-list 100 permit ip any 10.100.100.0 0.0.0.255!route map POLICY permit 10 match ip address 100Set ip next-hop recursive 10.1.1.1!route-map POLICY
permit 20
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Answer: D

NEW QUESTION 56
- (Exam Topic 3)

Rl (config) #interface GigabitEthernet 0/0
Rl (config-if)#ip address 10.10.10.10 255.255.255.252
Rl (config-if)#ospfvd 1 ipvd area 0

R2 (config) #interface GigabitEthernet 0/0

R2 (config-if)#ip address 10.10.10.11 255.255.255.252
R2 (config-if) #ospfv3 10 ipv4d area 0

R2 (config-if) #ospfv3 network broadcast

Refer to the exhibit An engineer is troubleshooting an OSPF adjacency issue between directly connected routers R1 and R2 Which configuration resolves the
issue?
A)

R1(config)#interface GigabitEthernet 0/0
R1(config-ifj=ospfv3d network broadcast
B)
R2(config#interface GigabitEthernet 0/0
R2(config-if)=ip address 10.10.10.9 255.255.255.252
C)

R1(config#¥interface GigabitEthernet 0/0
R1(config-if)zospfvd 10 ipv4 area 0

D)

R2(config)#interface GigabitEthernet 0/0
R2(config-if)#no ospfvd network broadcast

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 59
- (Exam Topic 3)

Houterhdshow snmp community
Community name: ILMI
Community Index: ILMI

Community SecurityName!:

storage-type: read-only active
Community name: ccnp
Community Index: cocnp Community SecurityName: ccnp

storage-type: nonvolatile active access-list: 4

HRouterAs#show ip access-lists

Standard IF access list 4
10 permit 172.18 1
20 permit 2.16.2.2
30 permi 2.16.3
Extended IP access list BRANCHES

'||'i

10 permit 1p 17Z.16.4.4 any (95 matches)
20 deny ip any any (95 matches)

Refer to the exhibit The SNMP server with IP address 172.16 4 4 cannot access host router A Which configuration command on router A resolves the issue?
A. snmp-server community ccnp

B. access-list 4 permit 172.16.4.0 0.0.0.3

C. access-list 4 permit host 172.16.4.4

D. snmp-server host 172.16.4.4 ccnp

Answer: D
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NEW QUESTION 64
- (Exam Topic 3)

Eifcopy tfcrp flaash:

on devica)

Ra#®

Address or name of remote hosat [272.16.2.19]7

Source filenams [=2600-i-mr.121.T.bin)?* c2600-i-me.121-1.T.bin

Destination filename [c2600-i-mz.121-1.T.bin]?

Loading c2600=4i-mz.3121=1.T.bin from 172.16.2.19%(via GigabitEthernetd/0) L
RError copying tftp://172.16.2.1%/c2600-1-mx.121-1.T.Bin (Het encough space

c4 TFTF DHCP

P i7 i€ . 2. 1€ J T8

Sarve: Server

Refer to the exhibit. The engineer is getting an error when trying to transfer a new IOS file to the router. Which action resolves the issue?

A. Delete some files on the router flash memory.

B. Delete some files on the router NVRAM.

C. Remove any access-list filtering the TFTP file transfer.
D. Split the file into parts to transfer them one by one.

Answer: A

NEW QUESTION 66
- (Exam Topic 3)

1

O

Userswz

Rl

C—1
—3

ML Server
10.221.10.11

Core_Swil#
access-list 11 permit 10.221.10.11
access-list 20 permit 10,221.10.10
access-list 22 permit 10.221.10.12
I
snmp-server group NETWVIEW 3 priv read NETVIEW access 20

snmp-server group NETADMIM w2 priv read NETVIEW wrile NETADMIN access 20
snmp-server community CiscOUs3r RO 20

snmp-server community CiscOwrus3r RW 20

A. access-list 20 permit 10.221.10.12

B. snmp-server group NETVIEW v2c priv read NETVIEW access 20

C. snmp-server group NETADMIN v3 priv read NETVIEW write NETADMIN access 22
D. access-list 20 permit 10.221.10.11

Answer: D

NEW QUESTION 70
- (Exam Topic 3)
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l¥ configure terminal
El{config)4 hostnama CPEL
CPEl(config) § ip domain-name example.com
CPEl {config)# crypto key generate rsa
The name for the keys will be: CPEl.example.com
Choose the size of the key modulus in the range of 360 to 40%6
for your
General Purpose Keya., Choosing a key modulus greater than 512
may take

a few minutes.

How many bltz in the modulus [512]: 2045
¥ Generating 2045 bit RSA keys, keys will be non-exportable...

[OK] (elapsed time waz 2 secondsz)

CPEl (config) ¥ service password-encryption

CPELl (confiq) §# username csadmin secrat SecurdpdsSwird
CPEl{config)# line vty O 4

CPEl (config-lins)+# transport input telnet ssh

CPEl (config-line)# legin local
CPEl({config-line)# end

CFPELl# copy runnhing-config startup-config

Deztination filename [atartup-config)?

Building configuration...

[OK]

CPEl# ssh 10.0.0.1

% No user specified nor awvailable for 55H client

CPEL# copy running-config startup-config
Destination filename [startup-configl?
Building configuration...

[OK]

CPEl§ ssh 10.0.0.1

% No user specified nor available for 55H client

Refer to the exhibit. An administrator must harden a router, but the administrator failed to test the SSH access successfully to the router. Which action resolves the

issue?

A. Configure SSH on the remote device to log m using SSH

B. SSH syntax must be ssh -1 user ip to log in to the remote device
C. Configure enable secret to log in to the device

D. SSH must be allowed with the transport output ssh command

Answer: B

NEW QUESTION 71
- (Exam Topic 3)
configuration on the hub router meets this requirement?

A. interface TunnelOtunnel mode gre multipoint
B. interface TunnelO tunnel mode dvmrp

C. interface TunnelO tunnel mode ipsec ipv4
D. interface TunnelO tunnel mode ip

Answer: A

NEW QUESTION 75
- (Exam Topic 3)

A company Is redesigning WAN infrastructure so that all branch sites must communicate via the head office and the head office can directly communicate with
each site independently. The network engineer must configure the head office router by considering zero-touch technology when adding new sites in the same

WAN infrastructure. Which configuration must be applied to the head office router to meet this requirement?

interface Tunneld
tunnel mode ip
ip nhrp map multicast dynamic

interface Tunneld
tunnel mode dvmrp
ip nhrp redirect

interface Tunneld
tunnel mode ip
ip nhrp redirect

interface Tunneld

tunnel mode gre multipoint
ip nhrp map multicast dynamic

A. Option A
B. Option B
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C. Option C
D. Option D

Answer: D

NEW QUESTION 77
- (Exam Topic 3)

serial restart-delay 0

clock cate 64000

i

ipvé router oapf 10

routar-id 1.1.1.1

log-adjacancy -chihgas

I

ipvé access-list DENY TELNET LO4

saquance J0 dany tcp host LDO:ABC:2011:7 host 400A:0:400C: 1 g telnet permit ipvé any any
and

Rl: Ri:
interface Leepbackl interface Locpback(

ne ip addresss ro Ap addreas

ipve address 100A:0Q:100C::1/64 ipvé address 1001:ABC:2011:7::1/64
ipvE anable ipvé anable

ipvé cspf 10 area 0 ipvh ospf 10 area 0

| '

intarface Loopbackd interface Seriall/0

ne ip address 5o ip address

ipvé address 400A:0:400C:: 1/ /64 ipwé address ABDL:2011:7:100::/64 sul-64
ipvt snable ipvé anable

ipvEé oapf 10 area 0 ipwé ocapf natwork point-to-point

} ipwé ocapf 10 area 0

inkarface Seriall /0 serial restart-delay 0

ne ip address !

ipvé address ABOL:2011:7:100::/64 eui-&d ipvé routsr cspf 10

ipvE snable router-id 2.2.2.2

ipvE crpl natwork polnt-to-point log-adjacency-changas

ipvé cspf 10 area 0 !

ipré traffic-filter DENY TELMET Lod in and

Rl: Ri:

interface Loopbackl intarface Locpback(

ne ip addresas ro ip address

ipvet address 100A:0Q:100C::1/64 ipvé address 1001:ABC:2011:7::1/64
ipwE anable ipvh anable

ipvé cspf 10 area 0 ipvh ospf 10 area 0

i 1

intarface Loopbackd interface Seriall/0

no ip addrass no ip address

1pv¥es CREPI LY ArSS ip¥e OSPI N8CWOIE POLINL-LO<pPOLOL
1 ipwvé capf 10 area Q
interface Sariall/o sarial restart-dslay 0

no 1F addrass '

:I.pn.rE address ABOY 2011710034 64 &al-6d ipwé rouktar ompf 10

ipvé anable router-id 2.2.2.2

ipvé ospf network point-to-point log-adjacancy-changes

ipvé ospf 10 arsa 0 !

ipwh traffic-filter I:IIIJJ‘!E_TI‘.L‘EH‘.T_‘_'.ﬁI i mnd

sarial restart-delay ©
clock rates 64000

L]

ipvé routsr asapf 10
router-id 1.1.1.1
log-adjacency-changas
1

ipvé sccess-list DENY TELNET LO4
sequance 20 deny tep host 100:ARC:2011:7 host 400A:0:400C::1 aq telnat parmit ipwd EnY snj
and

ipvé access-list DENY TELNET LO4
saquance J0 dany tcp host LDO:ABC:2011:7 host 400A:0:400C: 1 eg telnet permit ipvé any any
and

Refer to the exhibit. An engineer implemented an access list on R1 to allow anyone to Telnet except R2 Loopback0 to R1 Loopback4 How must sequence 20 be

replaced on the R1 access list to resolve the issue?

A. sequence 20 permit tcp host 1001 ABC:2011:7:: 1 host 400A:0:400C::1 eq telnet
B. sequence 20 deny tcp host 400A:0:400C::1 host 1001 :ABC:2011:7::1 eq telnet
C. sequence 20 deny tcp host 1001:ABC:2011:7::1 host 400A:0:400C::1 eq telnet
D. sequence 20 permit tcp host 400A:0:400C::1 host 1001ABC:2011:7::1 eq telnet

Answer: C

NEW QUESTION 78
- (Exam Topic 3)
Refer to the exhibit.

Passing Certification Exams Made Easy

visit - https://www.2PassEasy.com



@ 2passeasy

Welcome to download the Newest 2passeasy 300-410 dumps
https://www.2passeasy.com/dumps/300-410/ (530 New Questions)

.\ p 11

£ N
ton [ WA e

o | ”& ; '

1 [ - - |
\ l‘ﬂ,."-?”:-'ﬂ EFERT ) fﬂ JRLSRRTE] L1320 l“, J
S L 4 b _,_,-"r.
3} [ L i
B | S — e - = s krev-Ant etireded TN ear——
Arteinet 1000, | LEshenw pooy-map Controlplant  [——— A kol 801 % 1 ea toinet " pache
| | Comerpl Phase | i 118 bid Trrig - pen
b 1 T »p I ¥ 5 N ;:;> 1 n m
LT mofess fndrd oyl aon
s " ET
" Ly pi bk TELNET
i ] il ™
B L ™. ¥ f
oy ity | pesicy-man OGP
Il & ¥ie 01000 s, drop rate D050 bps ",I i Paswaard
Wadch acce-froug rame TELKET 3 £ Ria

<Lipl Umdieds

An engineer implemented CoPP to limit Telnet traffic to protect the router CPU. It was noticed that the Telnet traffic did not pass through CoPP Which configuration
resolves the issue?

policy-map COPP
class TELNET
police 8000 conform-action transmit exceed-action transmit

policy-map COPP
class TELNET
police B000 conform-action transmit exceed-action transmit wviclate-action drop

ip access-list extended TELNET
permit tep host 10.2.2.1 host 10.2.2 4 eq telnat
permit tcp host 10.1.1.1 host 10.1.1.3 &q telnet

ip access-list extended TELNET
parmit tep host 10.2.2.4 host 10.2.2.1 eq talnet
permit tcp host 10.1.1.3 host 10.1.1.1 eq telnet

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 79
- (Exam Topic 3)
Configure individual VRFs for each customer according to the topology to achieve these goals :

i e MR ™
=] ‘\1\\ . ‘_'_::"_
- — .
// “\_,_ i
Ll v
;e GEEFN
Topology Diagram
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R1 R2 SW1 SW2 SW2 SWd

CEuncedl irsees Topobogy lasks
Ll
Configure individual WRFs for each customer according o
the topology 1o achieve these Qoals
1. YRF “cu-red” has interfaces on routers R1 and R2
Both routers are preconfigured with 1P addressing
VRFs, and BGF. Do not use the BGP network

statemeant for adveartisamaeant

2. VRF cu-greaen” has interfaces on routers R1 and R2

3. BGP on router R1 populates WHF roules batwaan
router R1 and R2

4. BGP on router B2 papulates WHF roules betwaen
router R1 and R2

5. LAMN to LAM s reachable betwean SW1 and SW3 for
VIRF “cu-reed amnd between SW2 and SWa for VIRF

cu-graen”. AR Swichas are preconliguread

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Solution:

® Use cu-red under interfaces facing SW1 & SW3:

On R1:

interface Ethernet0/0

ip vrf forwarding cu-red

ip address 192.168.1.254 255.255.255.0

Check reachability to SW1: R1#ping vrf cu-red 192.168.1.1 Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.2.1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 1/1/1 ms
On R2:

interface Ethernet0/0

ip vrf forwarding cu-red

ip address 192.168.2.254 255.255.255.0

Check reachability to SW3: R2#ping vrf cu-red 192.168.2.1 Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds:
> Use vrf cu-green for SW2 & SW4.

On R1:

interface Ethernet0/1

ip vrf forwarding cu-green

ip address 192.168.20.254 255.255.255.0

Test reachability to SW2: R1#ping vrf cu-green 192.168.20.1 Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.22.1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/favg/max = 1/1/1 ms
On R2:

interface Ethernet0/1

ip vrf forwarding cu-green

ip address 192.168.22.254 255.255.255.0

Test reachability to SW4: R2#ping vrf cu-green 192.168.22.1 Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.20.1, timeout is 2 seconds:
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Success rate is 100 percent (5/5), round-trip min/favg/max = 1/1/1 ms
» OnR1:

interface Ethernet0/2.100 mpls ip

|

interface Ethernet0/2.200 mpls ip

!

Configure BGP:

router bgp 65000

neighbor 10.10.10.2 remote-as 65000

neighbor 10.10.20.2 remote-as 65000

!

address-family vpnv4 neighbor 10.10.10.2 activate

neighbor 10.10.20.2 activate exit-address-family

!

address-family ipv4 vrf cu-green redistribute connected
exit-address-family

!

address-family ipv4 vrf cu-red redistribute connected
exit-address-family

!

R1(config)#ip vrf cu-red

R1(config-vrf)#route-target both 65000:100

!

R1(config)#ip vrf cu-green

R1(config-vrf)#route-target both 65000:200

» OnR2:

interface Ethernet0/2.100

mpls ip

!

interface Ethernet0/2.200 mpls ip

!

router bgp 65000

neighbor 10.10.10.1 remote-as 65000

neighbor 10.10.20.1 remote-as 65000

!

address-family vpnv4 neighbor 10.10.10.1 activate

neighbor 10.10.20.1 activate exit-address-family

!

address-family ipv4 vrf cu-green redistribute connected
exit-address-family

!

address-family ipv4 vrf cu-red redistribute connected
exit-address-family R2(config)#ip vrf cu-red

R2(config-vrf)#route-target both 65000:100

!

R2(config)#ip vrf cu-green

R2(config-vrf)#route-target both 65000:200

2 Verification:

From SW1 to SW3: SW1#ping 192.168.1.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 1/1/1 ms
But can’'t Reach SW2 or SW4 in VRF cu-green: SW1#ping 192.168.22.1
Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.22.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)

SWi#ping 192.168.20.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.20.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)

Same Test for SW2: From SW2 to SW4: SW2#ping 192.168.20.1
Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.20.1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 1/1/1 ms
But can’'t Reach SW3 or SW1 in VRF cu-red: SW2#ping 192.168.1.1
Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.1.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)

SW2#ping 192.168.2.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.2.1, timeout is 2 seconds: U.U.U
Success rate is 0 percent (0/5)

Both R1 & R2 has separate tables for VRFs cu-red and cu-green.

NEW QUESTION 82

- (Exam Topic 3)

The network administrator configured CoPP so that all HTTP and HTTPS traffic from the administrator device located at 172.16 1.99 toward the router CPU is
limited to 500 kbps. Any traffic that exceeds this limit must be dropped.
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access-list 100 permit ip host 172.16.1.99 any
|

class-map CM-ADMIN match access-group 100
!
policy-map PM-COPP class CM-ADMIN

police 500000 conform-action transmit
|

interface E0/O
service-policy input PM-COPP

CoPP failed to capture the desired traffic and the CPU load is getting higher. Which two configurations resolve the issue? (Choose two.)

A. interface EO/Ono service-policy input PM-COPP!control-planeservice-policy input PM-COPP

B. policy-map PM-COPP class CM-ADMINnNo police 500000 conform-action transmit police 500 conform-action transmit!control-planeservice-policy input PM-

COPP

C. no access-list 100access-list 100 permit tcp host 172.16.1.99 any eq 80
D. no access-list 100access-list 100 permit tcp host 172.16.1.99 any eq 80access-list 100 permit tcp host 172.16.1.99 any eq 443
E. policy-map PM-COPP class CM-ADMINnNo police 500000 conform-action transmit police 500 conform-action transmit

Answer: A

NEW QUESTION 83
- (Exam Topic 3)
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Refer to the exhibit. Not all connected and static routes of router B are received by router A even though EIGRP neighborship is established between the routers.

Which configuration resolves the issue?

A)
router eigrp 100
network 209.165.200.224 0.0.0.7
redistribute static metric 1000 1 255 1 1500
eigrp stub connected

B)

router eigrp 100

network 209.165.200.224 0.0.0.7
C)

router eigrp 100
network 209.165.200.224 0.0.0.31
redistribute static metric 1000 1 255 1 1500
D)
router eigrp 100
network 209.165.200.224 0.0.0.7
redistribute static metric 1000 1 255 1 1500
eigrp stub static

A. Option A
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B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 84

- (Exam Topic 3)
Ri#show ip sla statistics
IPSLAs Latest Operation Statistics
IPSLA oparation id: 10
Type of operation: lomp-echo
Latest RTT: 24 milliseconds
Latest operation start time: *21:26:43.211 UTC Sat Sep 18 2021
Latest operation return code: OK
Numbaer of successes: 75
Number of failures: 0
Operation time to live: Forever
IPSLA oparation 1d: 20U
Type of operation: lomp-echo
Latest RTT: NoConnection/Busy/Timeout
Latest operation start time: *21:26:47.499 UTC Sat Sep 18 2021
Latest operation return code:. No connection
Number of successes: 128
Number of failures: 459
Oparation time to live: Foreve:r
Central 192 168.10.1 10.10.10.2 10.10.10.3
an'n"ﬁ ‘u 10.0.0.4/70 “m 10.10.10.4
® = 108/
4 mt - i
|
10,10.10.1 'r""-'q%ﬁ ;‘ Ggpﬁl‘p
L 3
N “ 10.0,0.16/30 u Fegional
10.10.10.3 10.10.10.5

Refer to me exhibit Traffic from R3 to the central site does not use alternate paths when R3 cannot reach 10 10 10 2 Traffic on R3 destined to R4 takes an
alternate route via 10 10 10.6 when 10 10 10 4 is not accessible from R3 Which configuration switches traffic destined to 10 10 10 2 from R3 on the alternate
path”

A. R3(config)#ip route 192.168.10.1 255.255.265.255 10.10.10.2 track 20
B. R2(config)#ip route 10.10 10 3 255 255.255 255 10.0.0.6

C. R3(config)#track( 20 ip sla 20 reachability

D. R6(config)#ip route 10.10.10 3 255.255.255.255 10.0.0.30

Answer: A
NEW QUESTION 88

- (Exam Topic 3)
Refer to the exhibit.

Cisco DRA Center DESIGN  POLICY  PROVISION ASSURANCE  PLATFORM ]
Dashboards - AP Down - lssue Instance
P1 | AP "APD0SL.C424.3CE2" went down. Last Occured Jan 9, 2020 7:15 PM
Status: Open v
Filter
Priority = Issue Description AP Up Down Chart
Mety This AP APOOS1.C424 3CEY is no longer Jam 8, 2020 7:15 pm Lo Jan 9, 2020 7:15 pro
Fabri connected to & WLC, This AP was previoushy
Fabri. connected to the switch BLD2-FLR2- I
AP ACCESS and port GigabitCthermnet1/0/14 S00p L/D 3:00a &00a %004 1200p 3:00p 6:00p
et & Dawn - - Ma Data

The AP status from Cisco DNA Center Assurance Dashboard shows some physical connectivity issues from access switch interface G1/0/14. Which command
generates the diagnostic data to resolve the physical connectivity issues?

A. test cable diagnostics tdr interface GigabitEthernet1/0/14

B. Check cable-diagnostics tdr interface GigabitEthernet1/0/14
C. show cable-diagnostics tdr interface GigabitEthernet1/0/14

D. Verify cable-diagnostics tdr interface GigabitEthernet1/0/14

Answer: A

Explanation:
The Time Domain Reflectometer (TDR) feature allows you to determine if a cable is OPEN or SHORT when it is at fault.
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To start the TDR test, perform this task:

Step 1 (Starts the TDR test): test cable-diagnostics tdr {interface {interface-number}}

Step 2 (Displays the TDR test counter information): show cable-diagnostics tdr {interface interface-number}

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst9600/software/release/16-

11/configuration_guide/int_hw/b_1611_int_and_hw_9600_cg/checking_port_status_and_connectivity pdf

Text, table Description automatically generated

TDR. test started on mterface GilA7/14
A TDR fest can take a fow seconds to mon on an mterface
Lise “show cable-diagnostics tdr” wo read the IDE. resulss.

Wait 10 secaonds and Fen issue the command to show the cable diagnostics rasult;

B Tesh laat riun eLRRDE 5
Interfacs Spesd Loczl pair Pair lsngth Eamots pair Pair status
B B S - T M Pair R 18 %4- ]
Fair 5 1% /- 1
Baiz C 19 +/-"10
Eair 0 1% +/= 13 mecers Palr © Mormal
Motice that the resulte are "Mormal” in the above example. Cther resulls can be:
+ Dpen: Open <ircuit, This means that one (or more) pair has "ng pin contact”,

b Short: Shaort circult,

+ lmpedance Mismatched: Bad cable |

NEW QUESTION 89
- (Exam Topic 3)
Refer to the exhibit.
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An engineer is troubleshooting failed access by contractors to the business application server via Telnet or HTTP during the weekend. Which configuration

resolves the issue?

A)

R1

time-range Contractor
no periodic weekdays 8:00 to 16:30
periodic daily 8:00 to 16:30

B)

R4

time-range Contractor
no periodic weekdays 17:00 to 23:59
periodic daily 8:00 to 16:30

©)

R4

‘no access-list 101 permit tcp 10.3.3.0 0.0.0.255 host 10.1.1.3 eq telnet time-range Contractor

D)
R1

‘no access-list 101 permit tcp 10.3.3.0 0.0.0.255 host 10.1.1.3 eq telnet time-range Contractor

A. Option
B. Option
C. Option
D. Option

Answer: A

NEW QUESTION 92
- (Exam Topic 3)
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O5PF AREA "i-l

EIGRFP 100 =

C. JER i .Eih En, sl
00 10 99 8e oo 00 1 10 90 A 000 O
] 4 K.

.IIII. 197 168 200 074

Trl#show route LA
route-map FROM->EIGRP, permit, segquence 10
Match clauses:
ip address (access-1ists): 10
Salb clansaes:
Polioy routing matches: 0 packets, 0 bytes
Ri#show run | sec router
router elgrp 100
network 10.9%6.6%.0 0.0.0.3
no aunto-summary
elgrp router-id 1.1.1.1
router ospf 100
router-id 1.1.1.1
log-adjacency -changes
redistribute eigrp 100 subnets route-map FROM->EIGRP
netwerk 10.99.6%.0 0.0.0.3 area 0
Rl#show ip accass-list
Standard IP access list 10
10 parmit 192.168.16.0, wildcard bits 0.0.3,255%

11 permit 15%2.168.0.0, wildcard bits 0.0.7.255

20 deny any

Refer to the exhibit The engineer configured route redistribution in the network but soon received reports that R2 cannot access 192 168 7 0/24 and 192 168 15

0/24 subnets Which configuration resolves the issue?

Bl {contigq)fip acoess-list standard 10

Bl {config-std-nacl)fne 10 permit

Bl {config-std-nacl)fne 11 permit

Rl {config-std-nacl}#10 permit 19%2.1668.0.0 0.0.3.
Bl {config-std-nacl)#ll permit 192.168.8.0 O0.0.3.

255
255

Bl (contig) #ip aceoess-list standard 10
Rl (config-std-nacl) fnoe 10 permit
El (config-std-nacl) #no 11 permit

El (config-std-nacl) #10 permit 15%2.168.0.0 0.0.7.
Bl (config-std-nacl) #11 permit 192.168.8.0 0,0.3.

L]
(]
(%]

Pt
i
n

Bl {contiqg)fip access-1ilst standard 10

Bl {config-std-nacl)fne 10 permit

Bl {config-std-nacl)fne 11 permit

Bl {config-std-nacl)#10 permit 192, 168.0.0 0.0.3.

REl{config-std-nacl)#ll permit 1%2.168.8.0 0.0,7.:

Rl (config)#ip access-1list standard 10

Bl (config-std-nacl)#no 10 permit

El (config-std-nacl) $no 11 permit

Bl (config-std-nacl) #10 permit 19%2.168.4.0 0.0.3.

255

Rl (config-std-nacl) #1l permit 192.168.12.0 0.0.3.255

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 97
- (Exam Topic 3)

Which MPLS value is combined with the IP prefix to convert to a VPNv4 prefix?

A. 16-byte Route Distinguisher
B. 8-byte Route Target

C. 16-byte Route Target

D. 8-byte Route Distinguisher

Answer: D
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NEW QUESTION 100
- (Exam Topic 3)

Which routing protocol is used by the PE router to advertise routes to a CE router without redistribution or static after removing the RD tag from the P router?

A. IS-IS

B. OSPF

C. BGPIPv4
D. MP-BGP

Answer: C

NEW QUESTION 102
- (Exam Topic 3)

Hlgah track briasf

Naxt Scheduled Start Tima: Fending crigger

Group Scheduled : FALSE

Randomly Scheduled : FALSE

Life (seconds]: Forever

Entzy Agecut (seconds): never

PFacurzing (Scarcing Evsryday) : FTALSE

Status of encry (5P RowStatuas): Active
Threashold (millissconds): 5000

Distributicn Statistics

Operatiocn freguency (ssconds): €0 (noat considared if

Stats Last Change

Track Typs Instance Faramater

1 ip sla 10 reachability Doy
Rigshow ip sla configuration

IP SLAs Infrastructure Engine-TII

Entry mumbar: 10

Oumier ;

Tag:

Operation timeout (milliseconds): 5000

Iype of cperatich to perform: icEp-echo

Target address/Sourcse interface: 10.10.10.10/GigabitEcharnatD/0
<

Schedule:

00:03:56d

randomly schaduled)

Oparation timsout (millissconds) =000
Type of cparation to pazrform: icEp-echo
Target address/Scurce interface: 10.10.10.10/G

€_F

Schedule:

Bext Scheduled Start Tims: Pending trigger
Group Schadulsd FALSE

Randomly Scheduled FALSE

Life {(seconds): Forewver

Entry Agsput (ssconds): neyger

Becurring {(Starcing Everyday) : FALSE
Status of sencry (5P RowStatus): Active

Threshold {milliseconds): 5000

Distributicn Stazistics

Refer to the exhibit A network engineer notices that the configured track option is down Which configuration resolves the issue*?

A. ip sla schedule 10 start-time now

B. ip sla schedule 10 start-time pending life forever
C. ip sla schedule 10 no timeout

D. ip sla schedule 10 no threshold

Answer: A
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NEW QUESTION 106

- (Exam Topic 3)

An engineer configured a router with this configuration

ip access-hst DENY TELNET

10 deny tcp any any eq 23 log-input

The router console starts receiving log message :%SEC-6-IPACCESSLOGP: list DENY_TELNET denied tcp 192.168.1.10(1022)(FastEthernet1/0
D508.89gb.003f) ->192.168.2.20(23), 1 packet"

Which action stops messages on the console while still denying Telnet?

A. Configure a 20 permit ip any any command

B. Remove log-Input keyword from the access list.

C. Replace log-input keyword with the log keyword in the access list.
D. Configure a 20 permit ip any any log-input command.

Answer: B

NEW QUESTION 111
- (Exam Topic 3)

ISP (config)® ip wrf EA
ISP (config-vef}d ip vef EB

Gt 100

17216 100 07 173 15, 200 014
15F(config-1£)# router ospf 100 vef EA

I8P {config-router)d net 172.16.100.0 0.0.0.255 area §
ISP (config-router) d net 172.16.200.0 0.0.0.255 area 0
I5P (config-router) § axit

ISP (config-1i£) 8 routar ospf 200 vef EB

Bramch | 15P(config-router)§ net 172.16.100,0 0.0,.0.255 area 0
I15F{config-router) § net 172.16.200.0 0.9.0.255 area 0
15P{config-routar)§ end

1 1300 97

CHsRF 200

Refer to the exhibit. A network engineer is provisioning end-to-end traffic service for two different enterprise networks with these requirements
» The OSPF process must differ between customers on HQ and Branch office routers, and adjacencies should come up instantly.
> The enterprise networks are connected with overlapping networks between HO and a branch office Which configuration meets the requirements for a customer

site?

A)

ISP{config@int 130

ISP|config-d)=ip vrf forwarding EA
ISP(config.f)ndescription TO->EA2_Branch

ISP (config-!j=ip address 172,16.200.2 255.255.255.0
ISP{contig-f)#no shut

B)

ISP{configint 12/0

ISPconfig-M#ip vrT forwarding EA
ISPiconfig-fj=description TO->EA1_HQ
ISP(contig-)¥ip address 172.16.100.2 255.255.255.0
ISP{config-fi=no shut

C)

ISP{config-vrT)#int 10/0

ISP(config-fi=p vrf lorwarding EB

ISP|config-# =description TO->EB1_HQ
ISP(config-)wip add 172.16.100.2 255.255.255.0
ISP{config-d=no shut

D)

ISP{config-#=int 110

ISP ({config-#=ip vrf forwarding EA
ISP{config-MNedescription TO>EA2 Branch
ISP(config-“=ip add 172.16.200.2 255.295.255.0
ISP{config-finno shut

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 115

- (Exam Topic 3)

How is the LDP router ID used in an MPLS network?

A. The MPLS LOP router ID must match the IGP router ID.

B. If not configured, the operational physical interface is chosen as the router ID oven d a loopback is configured.
C. The loopback with the highest IP address is selected as the router ID
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D. The force keyword changes the router ID to the speeded address without causing any impact.

Answer: D

NEW QUESTION 116
- (Exam Topic 3)
Refer to the exhibit.

matching Engine |D.

SrParseV3SnmpMessage: Failed.

arridx 0
internet.8.3.15.1.1.4.0=3

*Sep 26 19:50:43.504: SNMP: Packet received via UDP from
192.168.1.2 on GigabitEthemetD/15rParseV3SnmpMessage; No

SrDoSnmp: authentication failure, Unknown Engine |D

*Sep 26 19:50:43.504: SNMP: REeport, reqid 29548, errstat 0,

*Sep 26 19:50:43 508: SNMP: Packet sent via UDP to 192.168.1.2
process mgmt_req_int: UDP packet being de-queued

Which two commands provide the administrator with the information needed to resolve the issue? (Choose two.)

A. snmp user

B. debug snmp engine-id
C. debug snmpv3 engine-id
D. debug snmp packet

E. showsnmpv3 user

Answer: AE

NEW QUESTION 121
- (Exam Topic 3)

A company is expanding business by opening 35 branches over the Internet. A network engineer must configure DMVPN at the branch routers to connect with the
hub router and allow NHRP to add spoke routers securely to the multicast NHRP mappings automatically Which configuration meets this requirement at the hub

router?
Al

interface TunnelO

P address 10.0.0.1 255 255 255

'p Ahrp authentication KEY 4
p nhrp nhs dynamic

ip nhrp network-id 10
tunnel mode TIgre auto

B}

inMterface Tunnell

ip address 10.0.0 1 2565 255 255 0

Ip nhrp authentication KEY 4
Ip nhrp registration na-unigque
ip nhrp network-id 10

tunnel mode gre nmba

)

inerface TunnelO
ip address 10.0.0.1 255 25858 258 0
ip nhrp authentication KEY1
ip nhrg map multicast dynamic
ip nhrp network-id 10
tunnel mode gre multipoint

)

interface Tunnel0

ip address 10.0.0.1 255 255 255 o
ip nhrp authentication KEY 1

ip nhrp map multicast 224 0.0.0
ip nhrp network-id 10

tunnel Mmode gre ipvd

. Option A
. Option B
. Option C
. Option D

o0 w>

Answer: C

Explanation:

The command “ip nhrp map multicast dynamic” allows NHRP to automatically add spoke routers to the multicast NHRP mappings.

NEW QUESTION 125
- (Exam Topic 3)
Refer to the exhibit.
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ip prefix-list DMZ-STATIC seq 5 permit 10.1.1.0/24
|

route-map DMZ permit 10
match ip addresss prefix-list DMZ-STATIC
!
router ospf 1
network 0.0.0.0 0.0.0.0 area 0

redistribute static route-map DMZ
!

ip route 10.1.1.0 255.255.255.0 10.20.20.1

The static route is not present in the routing table of an adjacent OSPF neighbor router. Which action resolves the issue?

A. Configure the next hop of 10.20.20.1 in the prefix list DMZ-STATIC

B. Configure the next-hop interface at the end of the static router for it to get redistributed
C. Configure a permit 20 statement to the route map to redistribute the static route

D. Configure the subnets keyword in the redistribution command

Answer: D

NEW QUESTION 127

- (Exam Topic 3)

Refer to the exhibit.

Ip prefix-list 1 permit 172.16.0.0/16
Ip prefix-list 2 permit 192.168.2.0/24
|

route-map RED permit 10

match ip address prefix-list 1

set ip next hop 10.1.1.1

continue 20

exit

|

route-map RED permit 20

match ip address prefix-list 2

set ip next hop 10.2.2.2

end

The forwarding entries how that the next hop for prefixes from the 172.16.0.0/16 network is set to 10.2.2.2 instead of 10.1.1.1. Which action resolves the issue?

A. Add set ip next hop 10.1.1.1 in route-map RED permit 20.

B. Add the continue statement in route-map RED permit 10 instead of continue 20.
C. Remove match ip address prefix-list 1 from route-map RED permit 10.

D. Remove the continue 20 statement from route-map RED permit 10

Answer: D

NEW QUESTION 132
- (Exam Topic 3)
What does the MP-BGP OPEN message contain?

A. MPLS labels and the IP address of the router that receives the message

B. the version number and the AS number to which the router belongs

C. IP routing information and the AS number to which the router belongs

D. NLRI, path attributes, and IP addresses of the sending and receiving routers

Answer: B

NEW QUESTION 135
- (Exam Topic 3)
Refer to the exhibit.
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-

oo/ WA EOf1 Eilf1 [E @ |
f y | viaNiG

| —

| —

A ————"
il Core 5wl NMS Server
A1fsh llow exporter 10,331.10.11
Elgw Exporter FlowAnalyeerl:
Dreseription User defined
Export prodoco! NetFlow Versian 9

Transport Conliguration:

Dreslimat oy 1P aelchoess: 10.221.10.10
Source P addeess: 162.2.1

Sowrce Interface:  Ethefnetnfl
Transpori Protocol:  UDP

Dreslimat iy Pt L]

SOLrce P 49354
NECP 0xd
TiL 255

Dutput Features HNod Used

An engineer configured NetFlow on R1, but the NMS server cannot see the flow from R1. Which configuration resolves the issue?

A. flow monitor Flowmonitorl destination 10.221.10.11
B. flow exporter FlowAnalyzerl destination 10.221.10.11
C. interface Ethernet0/1flow-destination 10.221.10.11

D. interface EthernetO/Oflow-destination 10.221.10.11

Answer: B

Explanation:

From the output we notice that the destination IP address is not correct. The NMS server IP address should be 10.221.10.11, not 10.221.10.10. Therefore we have
to change this information under “flow exporter ..."” configuration.

NetFlow configuration reference: https://www.cisco.com/c/en/us/td/docs/iosxml/ ios/fnetflow/configuration/15-mt/fnf-15-mt-book/cfg-de-fnflow-exprts.html

NEW QUESTION 136
- (Exam Topic 3)

10.255.235.1/32 10.255.235.3/32

e N

>~ 2 2 3

E}F’ 10,0.12,0/24 ‘I’ 10,0.23,0/24 E}’

PEl# show run | sec router bgp

router bgp 65000

log-neighbor-chang

I 5.255. 3 remote-as 65 i)
T - kE i 2CE SEC EEET Y, e - T . - i
121QNDCL LUV.£30.48-30.2 Update-30urce _l..;.l. dTKEU

I.'.' L m= I

El#é dsbug ip top transastions

Elf desbug ip Lomp

T
Fob- 22- 14 L T TC ITH
b Z la - ICF = L
e mimT M
i o1& L a Ti Bl " ¥ = HSE =
> Jqz
=] £ L3 M d= { 1 b ]
ok abil v fros -1 232
Falb LBy TP = inaci ireathabla
C&odl
b 22 1l4e08elE, 51 7] ET; :
Aoent for TCE [F Tyvpe 1 dalay Z40 L8
Feob 22 12:048:=:L2.3751 TCPFO! aTate wWad EYNEENT » CLOSED (21381

G.2%% 285 3{17%] ]

*Faobh 22 1£:04:1F.3Th: TCEH OxEISASIEE desresyrad

Refer to the exhibit. The administrator is troubleshooting a BGP peering between PE1 and PES3 that is unable to establish Which action resolves the issue?

A. P2 must have a route to PE3 to establish a BGP session to PE1

B. Disable sending ICMP unreachables on P2 to allow PE1 to establish a session with PE3

C. Ensure that the PE3 loopback address is used as a source for BGP peering to PE1

D. Remove the traffic filtering rules on P2 blocking the BGP communication between PE1 and PE3

Answer: C

NEW QUESTION 137

- (Exam Topic 3)

Which IPv6 feature enables a device to reject traffic when it is originated from an address that is not stored in the device binding table?
A. IPv6 Snooping

B. IPv6 Source Guard

C. IPv6 DAD Proxy

D. IPv6 RA Guard

Answer: B

Explanation:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipv6_fhsec/configuration/xe-3s/ip6f-xe-3s-book/ip6-src-guar
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NEW QUESTION 140
- (Exam Topic 3)

| AS64513 |

@
|
|

Ri1#show [pui access.list

IPv& access list inbound-acl
permit top host 2001:088::2 eq bgp host 2001:D88::1 (75 matches) sequence 20
permit top host 2001:D88::2 hast 2001:DE&::1 eq bgp (17 matches) sequence 30
deny ipvE 2001:088:232 any (77 matches) sequence 40
permil ipvE any (20 malches) sequence 1000

R1#ping ipvé 2001:DB&::2

Type escape sequence 10 abor,
Sending 5, 100-byte ICMP Echos to 2001:068::2, timeout is 2 seconds:

Success rate is 0 percent (045

Ri#show ipvE acoess.[is

IPwE access list inbourd-act
permit lop host 2001:088:.2 eq bap host 2001:088::1 (77 matches) sequence 20
permit lop host 2001:088::2 hast 2001:088::1 eq bgp (19 matches) sequence 3
dery ipve 2001:DB8:/32 any (85 matches) sequence 40
permit ipvd any (23 matches) sequence 1000

Ri#

Refer to the exhibit. An engineer applied filter on R1 The interface flapped between R1 and R2 and cleaning the BGP session did not restore the BGP session and

failed Which action must the engineer take to restore the BGP session from R2 to R1?

A. Apply the IPv6 traffic filter in the outbound direction on the interface
B. ICMPv6 must be permitted by the IPv6 traffic filter

C. Enable the BGP session, which went down when the session was cleared.

D. Swap the source and destination IP addresses in the IPv6 traffic filter
Answer: B
NEW QUESTION 145

- (Exam Topic 3)
Refer to the exhibit.

Configuration Quiput.

Aaa néw-model

A44 group server facacs+ admik

SETVEr name admin

|

ip lacacs source-inledace GgabdEthamell

aaa authentication login admin group tacacs+ local enable
333 SE55000-I0 Common

|

lacacs sener admin

address p 1011156

key T OV150F1GSE1COTOIZD

|
line vty 0 4

login authentication admin

Pebug Output:

Oct 22 12738 57 587 AAABIND(OOO0001A) Bind 11

Oct 22 12 38 57 587, AAAALTHEMN/LOGIN (D000001A) Pick method st ‘admin

OCt 22 12308 67 587 ARALAUTHE RENABLE(DD00001A) Processing réguest action LOGIN
Oct 22 123857 587 ARATAUTHENENABLE(OOO0001A) Done status GET PASSWORD
Oct 22 12,3902 327, AANAUTHEN/ENABLE(0000001A) Processing request action LOGIN
Oct 22 12:3802 327, AAAAUTHENEMNABLE(OO00D01A) Done status FAIL - bad password

An administrator configured a Cisco router for TACACS authentication, but the router is using the local enable password instead Which action resolves the issue?

A. Configure the aaa authentication login admin group admin local enable command instead.

B. Configure the aaa authentication login admin group tacacs* local enable none command instead.
C. Configure the aaa authentication login admin group tacacs* local if-authenticated command instead.
D. Configure the aaa authentication login default group admin local if-authenticated command instead.
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Answer: C

NEW QUESTION 148
- (Exam Topic 3)
Refer to the exhibit.

Flésh ip route
10.0,0.0/8 is variably s=ubnetted, 3 subnets, 1 masks
[ lo.1.2.0/724 [30/740960 via 10.1.100.10, Urids:da,
FastEthernet(/
L.1l.1. 0/24 [90/400600] wvia 10.1.100.10, 00:00:45,
' ithe t0
L0, L. 100,0/24 18 directly connected, FastEthernhet(/

Although summarization is configured for R1 to receive 10.0.0.0/8. more specific routes are received by R1. How should the 10.0.0.0/8 summary route be received
from the neighbor, attached to R1 via Fast Ethernet0/0 interface?

A. R1 should configure the ip summary-address eigrp <AS number> 10.0.0.0.255.0.0.0 command under the Fast Ethernet 0/0 interface.
B. The summarization condition is not met Router 10 1 100.10 requires a route for 10 0.0.0/8 that points to null O

C. The summarization condition is not me

D. The network 10.1.100.0/24 should be changed to 172.16.0.0/24.

E. R1 should configure the ip summary-address eigrp <AS number> 10.0.0.0 0.0.0.255 command under the Fast Ethernet 0/0 interface.

Answer: D

NEW QUESTION 149
- (Exam Topic 3)
Refer to the exhibit.

AP A T AP TR
Sy Ky CRod T acdness 000

SISt AN SRp-0eT S5p-maS-hmag

A network administrator must configure DMVPN tunnels between the hub and spoke with dynamic spoke-to-spoke tunnel capabilities using EIGRP. Which tunnel
interface command must the network administrator configure to establish an EIGRP peer?

A. no ip next-hop-self eigrp 1
B. ip next-hop-self eigrp 1

C. no Ip nhrp ntxt-hop-self
D. ip nhrp next-hop-self

Answer: C

NEW QUESTION 153
- (Exam Topic 3)
R1 and R2 are configured as eBGP neighbor , R1 is in AS100 and R2 is in AS200. R2 is advertising these networks to R1:

The network administrator on R1 must improve convergence by blocking all subnets of 172-16.0.0/16 major network with a mask lower than 23 from coming in,
Which set of configurations accomplishes the task on R1?

A. ip prefix-list PL-1 deny 172.16.0.0/16 le 23 ip prefix-list PL-1 permit 0.0.0.0/0 le 32Irouter bgp 100neighbor 192.168.100.2 remote-as 200 neighbor
192.168.100.2 prefix-list PL-1 in

B. ip prefix-list PL-1 deny 172.16.0.0/16 ge 23 ip prefix-list PL-1 permit 0.0.0.0/0 le 32!router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor
192.168.100.2 prefix-list PL-1 in

C. access-list 1 deny 172.16.0.0 0.0.254.255 access-list 1 permit any!router bgp 100neighbor 192.168.100.2 remote-as 200neighbor 192.168.100.2 distribute-list 1
in

D. ip prefix-list PL-1 deny 172.16.0.0/16 ip prefix-list PL-1 permit 0.0.0.0/0'router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor 192.168.100.2 prefix-list
PL-1in
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Answer: A

Explanation:

“Blocking all subnets of 172.16.0.0/16 major network with a mask lower than 23 from coming in” would block 172.16.16.0/20.

The first prefix-list “ip prefix-list PL-1 deny 172.16.0.0/16 le 23" means “all networks that fall within the 172.16.0.0/16 range AND that have a subnet mask of /23 or

less” are denied.

The second prefix-list “ip prefix-list PL-1 permit 0.0.0.0/0 le 32" means allows all other prefixes.

NEW QUESTION 156
- (Exam Topic 3)
Refer to the exhibit.

EIGRPF 10

192.168.10.0/24
192.168.20.0/24
192 168.30.0/24
192 168 40.0/24

An engineer must redistribute networks 192.168.10.0/24 and 192.168.20.0/24 into OSPF from EIGRP. where the metric must be added when traversing through
multiple hops to start an external route of 20 The engineer notices that the external metric is fixed and does not add at each hop. Which configuration resolves the

issue?

R2(configifaccesslist 10 paimit 192_168.10.0 0.0.0.255
RZ(configifaccess-list 10 permit 192.168.20.0 0.0.0.255

R2(config#route-map RD permit 10
R2{confyg-route-map match ip address 10
R2{config-routa-map j#set metric 20
R2[confij-route-map iset metric-type type-2

R2{configj@reuter aapl 10
A2 (config-router #radistribute eigrp 10 subnets route-map RD

R2{config)#access-list 10 permit 192.168.10.0 0.0.0.255
R2(config#access-list 10 permit 192.168.20.0 0.0.0.255

R2[config)#route-map RD permit 10
R2{confg-roule-map gmatch ip address 10
B2 (config-route-map j#eaet metric 20
R2{config-roule-map #set metric-typa type-1

R2[configEFrouter ospl 10
R2{config-router Wredistribule eigrp 10 subnets route-map RD

R1[config s accessdisat 10 permit 192.168.10.0 0.0.0.255
R1{config#access-list 10 parinit 192.168.20.0 00,0255
|

R 1{configjEroute-map RD permit 10
R1{config-route-map match ip address 10
R1{config-route-map jJ#set metric 20
R1[config-route-map #eet matric-type type-

I

R1{configErouter ospf 10
R [config-router #redistribute eigrp 10 subnets route-map RD

R1ljconfig)faccess-list 10 permit 192.168.10.0 0.0.0.255
R1{configi#access-liat 10 permit 182.168.20.0 0.0.0.255
)

R1[contig #route-map RD permit 10
R1{config-route-map #match ip address 10
R1{conflig-roule-map #set metric 20
R1{config-route-map j#set metric-type type-2
|

R1{config#router ospl 10 _
R1{config-rowter Wredistribute elgrp 10 subnets route-map RD

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 160
- (Exam Topic 3)
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Flé¢show time-range

time-range entry: timer (actiwve)
periodic weekend 9:00 to 17:00
used in: IP ACL entry
used in: IP ACL entry

Rlé#¢show ip access-list interface gig0/0
Extended IP access list NO _Internet in

10 deny tcp any any e€g www time-range timer
20 deny tep any any eg 443 time-range timer

factive)
factive)

30 permit ip any any

Refer to the exhibit. Users on a call center report that they cannot browse the internet on Saturdays during the afternoon. Which configuration resolves the issue?

A)

interface gig0/0

ip access-group NO_Internet out

B)

ip access-list extended NO_Internet
15 permit tcp any any eq www

C)

no time-range timer
D)

time-range timer

no periodic weekend 9:00 to 17:00
periodic weekend 17:00 to 23:59

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 164

- (Exam Topic 3)
Refer to the exhibit.

RZW show ip ospf neighbor

B3§ show ip ospf neighbor

Haighbor ID Pri State Doad Tima Addross Intarfaca
192 .1668.99.2 1 EXCHANGE /S - 00:00:36 192 .168.99.1 Serial0d/Sl
router-64

Neilghbor ID Pri State Dead T me Address Interface
192 .168.99.1 1 EXSTART/S - 00:00:33 192.168.99.2 serialo/l
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192.168.99.1/30 192.168.99.2/30

———

A Nl _ so/1 @7

— CR3

10.1.11.

An OSPF neighbor relationship between R2 and R3 is showing stuck in EXCHANGE/EXSTART state. The neighbor is established between R1 and R2. The
network engineer can ping from R2 to R3 and vice versa, but the neighbor is still down. Which action resolves the issue?

A. Restore the Layer 2/Layer 3 conectivity issue in the ISP network.
B. Match MTU on both router interfaces or ignore MTU.

C. Administrative "shut then no shut" both router interfaces.

D. Enable OSPF on the interface, which is required.

Answer: B

Explanation:

After two OSPF neighboring routers establish bi-directional communication and complete DR/BDR election (on multi-access networks), the routers transition to the
exstart state. In this state, the

neighboring routers establish a master/slave relationship and determine the initial database descriptor (DBD) sequence number to use while exchanging DBD
packets.

Neighbors Stuck in Exstart/Exchange State

The problem occurs most frequently when attempting to run OSPF between a Cisco router and another vendor’s router. The problem occurs when the maximum
transmission unit (MTU) settings for neighboring router interfaces don’t match. If the router with the higher MTU sends a packet larger that the MTU set on the
neighboring router, the neighboring router ignores the packet.

NEW QUESTION 169
- (Exam Topic 3)

R1#show bgp ipv6 unicast 2001:db8::1/128
BGP routing table entry for 2001:db8::1/128, version 3
Paths: (1 available, best #1, table Global-IPv6-Table)
Not advertised to any peer
Local
2001:db8:33:33::33 (metric 128) from 2001:db8:11:11::11 (1.1.1.1)
Origin IGP, metric 0, localpref 100, valid, internal, best
Onginator: 3.3.3.3, Cluster list: 1.1.1.1

Refer to the exhibit. An engineer examines the BGP update for the IPv6 prefix 2001:db8::1/128. which should have been summarized into a /64 prefix. Which
sequence of actions achieves the summarization?

A. R1 is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to different AS

B. The prefix is not advertised to any peer and must be advertised using the network statement on R3.

C. Rl is a route reflector with a router ID of 3.3.3.3. and the originator of the prefix is a route reflector client, which has a router ID of 3.3.3.3. Both routers belong to
the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

D. R1 is a route reflector with a router ID of 1.111. and the originator of the prefix is a route reflector client, which has a router ID of 3.3.3.3. Both routers belong to
the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

E. R1 is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to the same A

F. Configure an aggregate address on the router with ID 3 3.3.3 for the prefix.

Answer: D
NEW QUESTION 170

- (Exam Topic 3)
Refer to the exhibit.

N

, L4\
r ' W
Engineer PC R1

Rl{configjfusername Admin password 7 Cisco@123
Irwalid encrypled password: Ciscom@123

An engineer is trying to add an encrypted user password that should not be visible in the router configuration. Which two configuration commands resolve the
issue? (Choose two)

A. password encryption aes
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B. username Admin password Cisco@maedeh motamedi
C. username Admin password 5 Cisco@maedeh motamedi
D. username Admin secret Cisco@maedeh motamedi

E. no service password-encryption

F. service password-encryption

Answer: DF
NEW QUESTION 175

- (Exam Topic 3)
Refer to the exhibit.

ipv6 inspect udp idle-time 3600
ipv6 inspect name 1pv6-firewall tcp
ipv6 inspect name pvb-firewall udp

ipv6 access-list ipvB-internet

deny ipv6 any FECO../10

deny ipv6 any FFOO0 /8

permit ipv6 any FF02 /16

permit ipv6 any FFOE /16

permit udp any any eq domain log

Interface gi0/1

ipv6 traffic-filter ipv6-internet In
Ipv6 inspect ipve-firewall in
ipv6 inspect ipv6-firewall out

A network administrator configured name resolution for IPv6 traffic to be allowed through an inbound access list. After the access list is applied to resolve the
issue, name resolution still did not work. Which action does the network administrator take to resolve the name resolution problem?

A. Remove ipv6 inspect ipv6-firewall in from interface gi0/1

B. Add permit udp any eq domain any log in the access list.

C. inspect ipv6 inspect name ipv6-firewall udp 53 in global config.
D. Add permit any eq domain 53 any log in the access list.

Answer: A

NEW QUESTION 178
- (Exam Topic 3)
Refer to the exhibit.
snmp-server community Public RO S0
snmp-server community Private RW 90
Ri#show access-list 90
Standard IP access list 90
permit 10.11.110.11
permit 10.11.111.12

MNov 6 06:45:11; %SNMP-3-AUTHFAIL: Authentication failure for SNMP req from host
10.11.110.12
MNov 6 06:45:12; %SNMP-3-AUTHFAIL: Authentication failure for SNMP req from host
10.11.110.12

A network administrator notices these console messages from host 10.11.110.12 originating from interface E1/0. The administrator considers this an unauthorized

attempt to access SNMP on R1. Which action prevents the attempts to reach R1 E1/0?

A. Configure 10S control plane protection using ACL 90 on interface E1/0

B. Configure I0OS management plane protection using ACL 90 on interface E1/0

C. Create an inbound ACL on interface E1/0 to deny SNMP from host 10.11.110.12
D. Add a permit statement including the host 10.11.110.12 into ACL 90

Answer: C

NEW QUESTION 183
- (Exam Topic 3)

Which two technologies optimize MPLS infrastructure using bandwidth protection services when experiencing slow response?7 (Choose two.)

A. IPLFA
B. MPLS OAM
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C. VPLS
D. SO-MPLS
E. Fast-Rwoute

Answer: AE

NEW QUESTION 184

- (Exam Topic 3)

A network is configured with IP connectivity, and the routing protocol between devices started having problems right after the maintenance window to implement
network changes. Troubleshoot and resolve to a fully functional network to ensure that:

Gudelines Topology Tﬁks
[ O%PF Protess IY Area 0 \

L1 192 168.2 2124
L WA A

101013 02 L 109003 332

y

Lo: 104001, 132

%

E 1010 45 74 a2
L 10104 432 L 10,105 532
L1 T2 I8 4.4 ) ; L1 172 15 5 Sud

Topology Diagram

Guidelines  Topology  Tasks

A network is configured with IP connectivity, and the routing
protocol between devices started having problems right after the
maintenance window to implement network changes.
Troubleshoot and resolve to a fully functional network to ensure

that:
[

1. Inter-area links have link authentication (not area
authentication) using MD5 with the key 1 string CCNP.

2. R3is a DR regardless of R2 status while R1 and R2
establish a DR/IBDR relationship.

3. OSPF uses the default cost on all interfaces. Network
reachability must follow OSPF default behavior for traffic
within an area over intra-area V'3 inter-area links,

4, The OSPF external route generated on R4 adds link cost
when traversing through the network to reach R2. A network
command to advertise routes is not allowed.
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B2 R4 RS

domain lookup
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R2 R4 RS

A. Mastered
B. Not Mastered

Answer: A

Explanation:

R4

Int range et0/0 — 1

Ip ospf authentication message-digest

Ip ospf message-digest-key 1 md5 CCNP

Router ospf 1

Redistribute connected subnets route-map to-ospf metric-type 1 Copy run start
R5

Int range et0/0 — 1

Ip ospf authentication message-digest

Ip ospf message-digest-key 1 md5 CCNP Interface eth 0/1

Ip ospf cost 10 Copy run start VERIFICATION:Graphical user interface, text, application Description automatically generated
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RZ¥show 1p ospf nei
R2#show 1p ospf neighbor

Neighbor ID State
nterface

10.10.1.1 FULL/BDR :00:38 10.10.12_1
thernet0/2
10.10.3
thernet0/1

r2#j]

Dead Time Address

00:00:30ctIvale. TourE3os

NEW QUESTION 186
- (Exam Topic 3)
What is a function of the IPv6 DHCP Guard feature for DHCP messages?

A. Only access lists are supported for matching traffic.

B. All client messages are always switched regardless of the device role.
C. It blocks only DHCP request messages.

D. If the device is configured as a DHCP server, no message is switched.

Answer: B

NEW QUESTION 190
- (Exam Topic 3)
Refer to the exhibit.

KBl

"Sep 19 00:53:43.008: BCPNST stats: 10.10 10 )

p:!_lﬂt_aut.*_tﬂ 3 went from nsf not aotiwd to
*Sep (10053243, 006: BCP: 10,3030, went from Establishadl to Idle

PEAP 19 00:83:43. 006: G- S-AD . _
vy JCHANCE : naighbor 10.10.10 13
"Sep 19 00:53:43.006: BCP: 10.10 10 Y closing Down Usar reset

'W 1% DO:53:4%.106: naop Roiber

unhandled major event code 198, minar 0

MDgshow ip Bgp peighbors 10.10.10.%
BGF meighbor is-10.30.10.2, remcle AS 65101
PGEF Yezslon L, remote router ID 0.0 ©
BGP glate = Ar-tiws
JasC read 00:01:35 last
Intarval is €0 seconds
Defanlt minisms time hetwesn
Mdres: tracking is enah]es
Connsctinns sstak ]

axternal link

i ¥ - 07 L | A .
L L 00:01:35 bold time i 1.0} koopal ive

advertisement runs is 3

U seconds
the RIE does have a route to 10.10.10.7

ished 11; dropped 11
Last reset OOD:01- 3 due to Pesar closad the session
Extarnal BCF nalghbor mavy be up to 3 hee Way
Transport (top) path-mtuo-disoovery nahled
Mo -aptive TCP connect

A NOC team receives a ticket that data traffic from RA to RF is not forwarded when the link between the RC-RE path goes down. All routers learn loopback IP
through the IGP protocol. Which configuration resolves?

A. RD(config)#router bgp B5201RD(config-router)# neighbor 10.10.10.2 update-source loopback 0
B. RD(config-router)# neighbor bgp 65101RB(config-router)# neighbor 10.10.10.3 ebgp-multihop 3
C. RB(config)# router bgp 65101RB(config)#neighbor 10.10.10.3 update-source loopback 0

D. RD(config)# router bgp 65201RDI(config-router)# neighbor 10.10.10.2 ebgp-multihop 3

Answer: B

NEW QUESTION 191
- (Exam Topic 3)
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Router A Router B

-

GO A

EIGRP CCHP
Met 198,118.133.0

G0 2

Router C

RouterA¥sh ip eigrp interfaces gigabitEthernet 0/0/1
EIGRP-IPvd Interfaces for AS(1)

mit Queus Pear( Mesarn Pacing Time Multicast Pending
Interface Pears Un/Reliable Un/Reliable SETT Un/Reliable Flow Timer Routes
EIGRF-IPvd VR(CCONP) Address-Family Interfaces for AS(100)

imit Cueus PFeerQ Mean Faci ng Time Multicast Fending
Interface Fears Un/RBeliable Un/AEsliabkle SKTT Un/Eeliable Flow Timer Houtes
Gi0/0/1 ] a/0 ofo 4] o/ 50 o

Routeri®

Refer to the exhibit EIGRP adjacency between router A and router C is not working as expected Which two configurations resolve the issue? (Choose two )

A)

Router C
router eigrp CCNP
address-family ipv4 unicast autonomous-system 100
topology base
exit-af-topology
network 198.18.133.0
exit-address-family

B)

Router C
router eigrp CCNP
address-family ipv4 unicast autonomous-system 100
af-interface GigabitEthernet0/0/0
hold-time 90

exit-af-interface

topology base

exit-af-topology

exit-address-family

C)

Router A
router eigrp CCNP

address-family ipv4 unicast autonomous-system 100
af-interface GigabitEthernet(/0/1

hello-interval 15

topelogy base

exit-af-topology

network 192.18.133.0

exit-address-family

D)

Router A
router eigrp CCNP
address-family ipv4 unicast autonomous-system 100
topology base
exit-af-topology
network 198.18.133.0
exit-address-family

E)

Router A
router eigrp CCNP
address-family ipv4 unicast autonomous-system 10
af-interface GigabitEthernet0/0/1
hello-interval 15
hold-time 90
exit-af-interface
topology base
exit-af-topology
network 198.18.133.0
exit-address-family

A. Option A
B. Option B
C. Option C
D. Option D
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E. Option E

Answer: BC

NEW QUESTION 194
- (Exam Topic 3)

Which mechanism must be chosen to optimize the reconvergence time for OSPF at company location 407173257 that is less CPU-intensive than reducing the

hello and dead timers?

A.BFD

B. Dead Peer Detection keepalives
C.SSO

D. OSPF demand circuit

Answer: A

NEW QUESTION 198
- (Exam Topic 3)

Ri#show ip flow export
Flow export v9 is enabled for main cache
Export source and destination details
VRF ID : Default
Source (1) 10.0.0.10 (GigabitEthernet2/0)
Destination(l) 192.168.10.1 (656)
Version 9 flow records
254 flows exported in 41 udp datagrams
0 flows failed due to lack of export packet
0 export packets were sent up to proocess level
41 export packets were dropped due to no fib
0 export packets were dropped due to adjacency issues
0 export packets were dropped due to fragmentation failures
0 export packets were dropped due to encapsulation fixup failures

Rid#show ip flow interface
GigabitEthernet2/0
ip flow ingress

10.10.10.2 10.10.10.3
m® LTT R
10.10.10.4
GF1/0 GE2/O
640/0 i
10.10.10.1 GED/O Data center
u 1' I 192.168.10.1
10.10.10.3 10.10.10.5

Refer to the exhibit An enterprise operations team must monitor all application server traffic in the data center The team finds that traffic coming from the hub site
from R3 and R6 rs monitored successfully but traffic destined to the application server is not monitored Which action resolves the issue?

A)

Ré4(config#int gigabitEthernet 10
Rd(conhg-f#ip flow ingress

B)
R1({conhg#int gigabitEthernet 0/0
R1{config-if=ip flow egress
C)
Rd({config=int gigabitEthernet 2/0
R4(config-=ip flow egress
D)
R3(config =int gigabitEthernet 0/0
R3(config-iN=ip flow egress

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
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NEW QUESTION 202
- (Exam Topic 3)
Refer to the exhibit.

| —
ED/1| TE] &

 S—

—)

Core_Swi NS Server
10.221.10.11

LhsarSW2

Cone_Swlb
acceis-list 11 permut 10.221.10.11
acceis-list 20 permit 10.221.10.10
acceis-list 22 permit 10.221.10.12
R1 |
snmp-server group NETYIEW v3 priv read NETVIEW access 20

sAmp-terver group NETADMIN v3 prv riad NETWVIEW weite RETADMIN access 20
snmp-sender commienty CuscOlisdr RO 20

inmp-server commumly Ciscwrusir BW 20

An engineer configured SNMP communities on the Core_SW1, but the SNMP server cannot obtain information from Core_SW1. Which configuration resolves this
issue?

A. snmp-server group NETVIEW v2c priv read NETVIEW access 20

B. access-list 20 permit 10.221.10.11

C. access-list 20 permit 10.221.10.12

D. snmp-server group NETADMIN v3 priv read NETVIEW write NETADMIN access 22

Answer: B

NEW QUESTION 204
- (Exam Topic 3)
What is LDP label binding?

A. neighboring router with label

B. source prefix with label

C. destination prefix with label

D. two routers with label distribution session

Answer: C

Explanation:
Text Description automatically generated with medium confidence

For every IGP IP prefix in its [P routing table. each LSR creates a local binding—that is. it binds
a label to the [Pv4 prefix. The LSR then distributes this binding to all its LDP neighbors. These
received bindings become remote bindings. The neighbors then store these remote and local
hindings in @ special table, the label information base (LIB). Each LSR has only one local binding

NEW QUESTION 207
- (Exam Topic 3)
Refer to the exhibit.

Rl#sh ip route

10.0.0.0/8 i3 wvariably subnetted, 3 subnets, 1 masks
D 10.1.2.0/24 [90/409600] wvia 10.1.100.10, 0O0:08:45,
FastEthernet0/0
D 10.1.1.0/24 [90/409600] via 10.1.100.10C¢, 00:08:45,
FastEthernet(/0
Z 10.1.100.0/24 is directly connected, FastEthernet(/0

An engineer configures the router 10.1.100.10 for EIGRP autosummarization so that R1 should receive the summary route of 10.0.0.0/8. However, R1 receives
more specific /24 routes.

Which action resolves this issue?

A. Router R1 should configure ip summary address eigrp (AS number) 10.0.0.0 255.0.0.0 for the R1 Fast Ethernet 0/0 connected interface.

B. Router R1 should configure ip route 10.0.0.0 255.0.0.0 null O for the routes that are received on R1.

C. Router 10.1.100.10 should configure ip route 10.0.0.0 255.0.0.0 null O for the routes that are summarized toward R1.

D. Router 10.1.100.10 should configure ip summary address eigrp (AS number) 10.0.0.0 255.0.0.0 for the R1 Fast Ethernet 0/0 connected interface.

Answer: D

NEW QUESTION 211

- (Exam Topic 3)

A customer reports that traffic is not passing on an EIGRP enabled multipoint interface on a router configured as below:
interface Serial0/0 no ip address

interface Server0/0/0.9 multipoint ip address 10.1.1.1 255.255.255.248
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ip split-horizon eigrp 1
Which action resolves the issue?

A. Enable poison reverse
B. Enable split horizon
C. Disable poison reverse
D. Disable split horizon

Answer: D

NEW QUESTION 213
- (Exam Topic 2)
Which configuration feature should be used to block rogue router advertisements instead of using the IPv6 Router Advertisement Guard feature?

A. VACL blocking broadcast frames from nonauthorized hosts

B. PVLANSs with promiscuous ports associated to route advertisements and isolated ports for nodes
C. PVLANSs with community ports associated to route advertisements and isolated ports for nodes
D. IPv4 ACL blocking route advertisements from nonauthorized hosts

Answer: B

Explanation:

The IPv6 Router Advertisement Guard feature provides support for allowing the network administrator to block or reject unwanted or rogue router advertisement
guard messages that arrive at the network device platform. Router Advertisements are used by devices to announce themselves on the link. The IPv6 Router
Advertisement Guard feature analyzes these router advertisements and filters out router advertisements that are sent by unauthorized devices.

Certain switch platforms can already implement some level of rogue RA filtering by the administrator configuring Access Control Lists (ACLs) that block RA ICMP
messages that might be inbound on “user” ports.

Reference: https://datatracker.ietf.org/doc/html/rfc6104

NEW QUESTION 214
- (Exam Topic 3)

T Ty [ ]
Lofa | h P "", EQf1 |E03 o

W 4 K,—"'J { VLAN IO
T i a2l —
RL Core_Swl MRS Server
| e : : ] 10.221.10.11
Rifeanfigill ip verily drop-rate compute window 60
Ellcanfight ip veriby drop-rate compute interval 60

| Elfcanfigh ip verdly drop-rate notily hold-down 60
Rl(canfig)t interface ethermet /0
Rl{canfig-f]® ip werify unicaat notlflication theeshold 75000
Rifoanlig-l|® samp trap ip veridy digp-rale

| Elfcanbpg 1R end

Refer to the exhibit. An engineer configured SNMP traps to record spoofed packets drop of more than 48000 a minute on the ethernet0/0 interlace. During an IP
spoofing attack, the engineer noticed that no notifications have been received by the SNMP server. Which configuration resolves the issue on R1?

A. ip verity unicast notification threshold 48000
B. ip verify unicast notification threshold 8000
C. ip verify unicast notification threshold 800
D. ip verify unicast notification threshold 80

Answer: C

NEW QUESTION 219
- (Exam Topic 3)

Blconfig-if)# do sh run int «0/1 | b int

poka 1 Biconfig-if)l# interface Ethernetl/1
Ty @“ié__" 17 54 Biconfig-if}# ip address 78.1.1.8 255.255.255.0
B Plares Bloonfig-if}# ipvé enable
Aaisn El Blconfig-if)# ocspfvd 1 ipvd area 1

Cleconfiglf interface Ethernatl/1._78
Cloonfig-subif)# encap dotlq T8
Clconfig-sublif)# ip add 78.1.1.7 255 255.255%.0
Cleconfig-subif)k ospfvd 1 ipvd azrea 0

Diconfig-if}# do sh run int «0/1 | b int
Diconfig-if}# interface Ethernetl/ 1
Diconfig-if)# no ip address
D|config=if)§ ipwe address 37::3/64
Bpoke 4 Diconfig=-if}# ipvé enable

Diconfig-if)# ipvé ospf 1 area O

Refer to the exhibit. A network engineer receives a report that Spoke 1 users can perform bank transactions with the server located at the Center site, but Spoke 2
users cannot. Which action resolves the issue?

A. Configure the Spoke 2 users IP on the router B OSPF domain
B. Configure encapsulation dotlq 78 on the router C interface.
C. Configure IPv6 on the routers B and C interfaces

D. Configure OSPFv2 on the routers B and C interfaces

Answer: C

NEW QUESTION 221
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- (Exam Topic 3)
An administrator attempts to download the pack NBAR?2 file using TFTP from the CPE router to another device over the Gi0/0 interface. The CPE is configured as
below:

hostname CPE

i

ip access-list extended WAN

< >

remark == All UDP rules below for WAN I1D: S420T92E35F29
permit udp any eq domain any

permit udp any any aq tftp

deny udp any any

|

-

interface Gi gabitEthernet0/0
<,

ip access-group WAN in

<.>

!

titp-server flash:pp-adv-csr1000v-1612.1a-37-53.0.0.pack

The transfer fails. Which action resolves the issue?
A. Change the WAN ACL to permit the UDP port 69 to allow TFTP
B. Make the permit udp any eq tftp any entry the last entry in the WAN ACL.

C. Change the WAN ACL to permit the entire UDP destination port range
D. Shorten the file name to the 8+3 naming convention.

Answer: B

NEW QUESTION 223
- (Exam Topic 3)

(config) #ip access-list standard EIGRP-FILTER
(config-std-nacl) #deny 10.10.10.0 0.0.0.0
(config=-std=-nacl)#permit 0.0.0.0 0.0.0.0
(config) #router eigrp 10
1l (config-router) ¢distribute-list route-map EIGRP in
config) froute-map EIGRP permit 10
config-route-map) ématch ip address EIGRP-FILTER

—

J.Fshaw J.p znute eigrp | include 10.10.10.
______ 10,128/25

=i I B P T R R

Refer to Ihe exhibit An engineer must filter EIGRP updates that are received to block all 10 10 10.0/24 prefixes The engineer tests the distribute list and finds one
associated prefix. Which action resolves the issue?

A. There is a permit in the route map that allows this prefix A deny 20 statement is required with a match condition to match a new ACL that denies all prefixes
B. There is a permit in the ACL that allows this prefix into EI6R

C. The ACL should be modified to deny 10.10.10.0 0.0.0.255.

D. There is a permit in the route map that allows this prefix A deny 20 statement is required with no match condition to block the prefix.

E. There is a permit in the ACL that allows this prefix into EIGR

F. The ACL should be modified to deny 10.10.10.0 255.255.255.0.

Answer: B

NEW QUESTION 225
- (Exam Topic 3)
Refer to the exhibit.

P 172.29.0.0/16, 1 successors, FD is 307200, serno 2

via 1592.168.254.2 (307200/281600), FastEthernet0/1

via 192.168.253.2 (41G200/352300), FastEthernetl/0

When the FastEthemet0/1 goes down, the route to 172.29.0 0/16 via 192.168.253 2 is not installed in the RIB. Which action resolves the issue?

A. Configure reported distance greater than the feasible distance
B. Configure feasible distance greater than the successor's feasible distance.
C. Configure reported distance greater than the successor's feasible distance.
D. Configure feasible distance greater than the reported distance

Answer: D

Explanation:

From the exhibit, we notice network 172.29.0.0/16 was learned via two routes:

+ From 192.168.254.2 with FD = 307200 and AD = 281600

+ From 192.168.253.2 with FD = 410200 and AD = 352300

The first route is installed into the RIB as the successor route because of lower FD.

When the first route fails, router will not use the second route as it does not satisfy the feasibility condition. The feasibility condition states that, the Advertised
Distance (AD, also called the reported distance) of a route must be lower than the feasible distance of the current successor route.

NEW QUESTION 229
- (Exam Topic 3)
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Refer to the exhibit.

Eléconfig t

Rl nflg)iip access-list sxtended UDP-ACL
H ext-nacl) ipearmit udp any any

K ext-nacl) fexit

i
4
fig
nfig) iroute-map VIA-R2 parmit 10
g=route=-map) imatech ip addressa UDP-ACL
j=route=-map) fset ip naxt-hep 10.10.11.2
iLig-route-rmap) Iaxit
ifig) iinterfacs Gi0/1
1-1f) #ip policy route-map VIA-R2
=L ] land

10.10.10.0/24

10.10.10.10:24

TCP traffic should be reaching host 10.10.10.10/24 via R2. Which action resolves the issue?

A. TCP traffic will reach the destination via R2 without any changes

B. Add a permit 20 statement in the route map to allow TCP traffic

C. Allow TCP in the access list with no changes to the route map

D. Set IP next-hop to 10.10.12.2 under the route-map permit 10 to allow TCP traffic.

Answer: C

NEW QUESTION 230

- (Exam Topic 3)

An engineer configured VRF-Lite on a router for VRF blue and VRF red. OSPF must be enabled on each VRF to peer to a directly connected router in each VRF.
Which configuration forms OSPF neighbors over the network 10.10.10.0/28 for VRF blue and 192.168.0.0/30 for VRF red?

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.15 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.3 area 0

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.240 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.252 area 0

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.252 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.240 area 0

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.3 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.15 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 231

- (Exam Topic 3)

What is a characteristic of IPv6 RA Guard?

A. RA messages are allowed from the host port to the switch
B. It is unable to protect tunneled traffic

C. It filters rogue RA broadcasts from connected hosts

D. It is supported on the egress direction of the switch
Answer: C

NEW QUESTION 232
- (Exam Topic 3)
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Customer ABC BGP Peering

' BGP AS 100
| OSPFVIIPVE

BGPAS I
O5PFvd IPvE

SW100#sh ip bgp ipwé uni summ

4 100 &

SW100#sh ip bgp ipvé unicast
SW100#§

Rl#sh ip bgp ipvé uni

Hatwork Next Hop
* 4 2001::4/128 2001::4
whi 2002::2/128 2001;:2

R1¥
Rlfsh ipvE route
0 Z001::2/128 [110/1)

B 2002::2/128 [200/0)
via 2001::2

BGP router identifier 100.0.0.1, local AS number 100
BGP table wersion is 1, main routing table version 1

Nelghbor v AS MsgRovd MsgSant ThlVer InQ Cutd Up/Down State/PfxRed
2001 :ABC:AAEE:1100:1122:1111:2222: AAAL

BGP table wersion is 4, local router ID is 1.1.1.1

via FE80::5200:C3FF;FE0L:EA00, GigabitEthernet0/0

5 1 g 0 00:00:58 0

Metric LocPrf Weight Path
o 100 0 300 4
o 100 0i

Refer to the exhibit SW100 cannot receive routes from R1 Which configuration resolves the issue?

R1
router bgp 100
address-family ipvé

neighbor 2001::2 route-reflector-client
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAA2 route-reflector-client

R2
router bgp 100
address-family ipvé
neighbor 2001::2
neighbor 2001::1 next-hop-self

R1
reuter bgp 100
address-family ipve

neighbor 2001::2 route-reflector-client
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAA2 route-reflector-client

R2
router bgp 100
address-family ipve
neighbor 2001::2
neighbor 2001::1 as-override
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R1

router bgp 100
address-family ipve
no synchronization

R2

router bgp 100
address-family ipvé
no synchronization

SW100

reuter bgp 100
address-family ipvé
no synchronization

R1

router bgp 100
address-family ipvé
redistribute connected

R2

router bgp 100
address-family ipvé
redistribute connected

A. Option A
B. Option B
C. Option C
D. Option C

Answer: A

NEW QUESTION 236

- (Exam Topic 3)

A network administrator is troubleshooting a high utilization issue on the route processor of a router that was reported by NMS The administrator logged into the
router to check the control plane policing and observed that the BGP process is dropping a high number of routing packets and causing thousands of routes to
recalculate frequently. Which solution resolves this issue?

A. Police the cir for BGP, conform-action transmit, and exceed action transmit.

B. Shape the pir for BGP, conform-action set-prec-transmit, and exceed action set-frde-transmit.
C. Shape the cir for BG

D. conform-action transmit, and exceed action transmit.

E. Police the pir for BGP, conform-action set-prec-transmit, and exceed action set-clp-transmit.

Answer: D

Explanation:
CIR (Committed Information Rate) is the minimum guaranteed traffic delivered in the network.
PIR (Peak Information Rate) is the top bandwidth point of allowed traffic in a non busy times without any guarantee.

Two Rates & Three Colors

Information Rate [bps)

PIR _

4 wellow
CIR —
green
L4 |
Committed Peak
Information Infarmation
Rate Rate

+ Policing: is used to control the rate of traffic flowing across an interface. During a bandwidth exceed (crossed the maximum configured rate), the excess traffic is
generally dropped or remarked. The result of traffic policing is an output rate that appears as a saw-tooth with crests and troughs. Traffic policing can be applied to
inbound and outbound interfaces. Unlike traffic shaping, QoS policing avoids delays due to queuing. Policing is configured in bytes.

+ Shaping: retains excess packets in a queue and then schedules the excess for later transmission over increments of time. When traffic reaches the maximum
configured rate, additional packets are queued instead of being dropped to proceed later. Traffic shaping is applicable only on outbound interfaces as buffering and
gueuing happens only on outbound interfaces. Shaping is configured in bits per second.
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Therefore in this case we can only policing, not shaping as traffic shaping is applicable only on outbound interfaces as buffering and queuing happens only on
outbound interfaces. Moreover, BGP traffic is not important so we can drop the excess packets without any problems.

And we only policing the PIR traffic so that the route processor is not overwhelmed by BGP calculation. Note: The “set-prec-transmit” is the same as “transmit”
command except it sets the IP Precedence level as

well. The “set-clp-transmit” sets the ATM Cell Loss Priority (CLP) bit from 0 to 1 on the ATM cell and

transmits the packet.

NEW QUESTION 240
- (Exam Topic 3)

ip sla 1

icep=-echo 8.B.B.8

threshold 1000

timecut 2000

fraquency 5
ip sla schedule 1 life forever start-time now

I
track 1 ip sla 1

i

ip route 0.0.0.0 0.0.0.0 Ethernet0/0 203.0.113.1 name ISPl track
1
ip route 0.0.0.0 0.0.0.0 Ethernet0d/1 198.51.100.1 2 name ISF2

Refer to the exhibit. After recovering from a power failure. Ethernet0/1 stayed down while Ethernet0/0 returned to the up/up state The default route through ISP1
was not reinstated m the routing table until Ethernet0/1 also came up Which action resolves the issue?

A. Reference the track object 1 in both static default routes

B. Remove the references to the interface names from both static default routes

C. Configure the default route through ISP1 with a higher administrative distance than 2.
D. Add a static route to the 8 8.8 8/32 destination through the next hop 203.0.113.1

Answer: D

NEW QUESTION 245

- (Exam Topic 3)

A CoPP policy is applied for receiving SSH traffic from the WAN interface on a Cisco ISR4321 router. However, the SSH response from the router is abnormal and
stuck during the high link utilization. The problem is identified as SSH traffic does not match in the ACL. Which action resolves the issue?

A. Rate-limit SSH traffic to ensure dedicated bandwidth.
B. Apply CoPP on the control plane interface.

C. Increase the IP precedence value of SSH traffic to 6.
D. Apply CoPP on the WAN interface inbound direction.

Answer: B

Explanation:
The problem is “SSH traffic does not match in the ACL” and “CoPP policy is applied for receiving SSH traffic from the WAN interface” so we should apply CoPP
on the control plane interface instead.

NEW QUESTION 249
- (Exam Topic 3)
Refer to the exhibit.

ip vif CCNP
rd 1:1

interface Ethernst1

ip vrf forwarding CCNP

ip address 10.1.1.1 255.255.255.252
[

interface Ethernet2
ip wrf forwarding CCNP
ip address 10.2.2.2 255.255.255.252

Which configuration enables OSPF for area 0 interfaces to adjacency with a neighboring router with the same VRF?
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A. router ospf 1 vrf CCNP interface Ethernetlip ospf 1 area 0.0.0.0 interface Ethernet2 ip ospf 1 area 0.0.0.0
B. router ospf 1 interface Ethernetlip ospf 1 area 0.0.0.0 interface Ethernet2 ip ospf 1 area 0.0.0.0

C. router ospf 1 vrf CCNP network 10.1.1.1 0.0.0.0 area Onetwork 10.2.2.2 0.0.0.0 area O

D. router ospf 1 vrif CCNPnetwork 10.0.0.0 0.0.255.255 area 0

Answer: C
NEW QUESTION 252

- (Exam Topic 3)
Refer to the exhibit.

iy ? e

Area 0

X7 WY

[ g o

L 0 03
5W1 W/

An error message "an OSPF-4-FLOOD_WAR?” is received on SW2 from SW1. SW2 is repeatedly receiving its own link-state advertisement and flushes it from the

network. Which action resolves the issue?

A. Change area 5 to a normal area from a nonstub area

B. Resolve different subnet mask issue on the link

C. Configure Layer 3 port channel on interfaces between switches
D. Resolve duplicate IP address issue in the network

Answer: D

NEW QUESTION 256
- (Exam Topic 3)

An engineer received a ticket about a router that has reloaded. The monitoring system graphs show different traffic patterns between logical and physical

interfaces when the router is rebooted. Which action resolves the issue?

A. Configure the snmp ifindex persist command globally.

B. Clear the logical interfaces with snmp ifindex clear command

C. Configure the snmp ifindex persist command on the physical interfaces.

D. Trigger a new snmpwalk from the monitoring system to synchronize interface OIDs

Answer: A

NEW QUESTION 259
- (Exam Topic 3)

A network administrator added a new spoke site with dynamic IP on the DMVPN network. Which configuration command passes traffic on the DMVPN tunnel from

the spoke router?

A. ip nhrp registration ignore

B. ip nhrp registration no-registration
C. ip nhrp registration dynamic

D. ip nhrp registration no-unique

Answer: D

NEW QUESTION 264
- (Exam Topic 3)
Refer to the exhibit.
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ipv8 dhcp pool DHCPPOOL

address prefix 2001:0:1:4::/64 lifetime infinite infinite

interface FastEthernet0/0

ip address 10.0.0.1 255,255.255.240
duplex auto

speed auto

ipve address 2001:0:1:4::1/64

ipv6 enable

ipv6 nd ra suppress

ipv6 ospf 1 area 1

ipv6 dhep server DHCPPOOL

Reachability between servers in a network deployed with DHCPV6 is unstable. Which command must be removed from the configuration to make DHCPv6

function?

A. ipv6 dhcp server DHCPPOOL

B. ipv6 address 2001:0:1:4::/64

C. ipv6 nd ra suppress

D. address prefix 2001:0:1:4::/64 lifetime infinite infinite

Answer: C

NEW QUESTION 265
- (Exam Topic 3)

The network administrator configured the router for Control Plane Policrg so that inbound SSH traffic is policed to 500 kbps This policy must apply to traffic coming

in from 101010 0<24 and 192 168 10.0/24 networks

access-list 100 permit ip 10.10.10.0 0.0.0.255 any
access-ist 100 permit tep 192,168,100 0.0.0.255 any eq 23
1
class-map CLASS-55H
match aceess-group 100
1
pelicy-map PM-COPP
class CLASS-55H
police 500000 conform-action transmit

!

Interface EQD

service-policy input PM-COPP
|

Interface EONM

service-policy input PM-COPP

The Control Rane Policing is not applied to SSH traffic and SSH is open to use any bandwidth available. Which configuration resolves this issue?

no access-list 100

access-list 100 permit tep 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permit top 192.168.10.0 0.0.0.265 any eq 22
]

palicy-map PM-COPP

class CLASS-5SH

no police 500000 conforme-action transmit

police 500000 conform-action transmit exceed-action drop

interface EQD
no service=-policy input PM-COPP
L]

interface EO/1
no service=-policy input PM-COPP
L]

control-plane
sarvice-policy input PM-COPP

no access-list 100

access-list 100 permit tep 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permit tep 192.168.10.0 0.0.0.25% any aq 22
|

Interface EQ/Q

no service-policy input PM-COPP

I

inter'face E0/1
no service-policy input PM-COPP
I

control-plane
service-policy input PM-COPP

no access-list 100
access-list 100 permit tcp 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permit tcp 192.168.10.0 0.0.0.255 any eq 22

A)
no access-list 100

access-list 100 permit tcp 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permit tep 192.168.10.0 0.0.0.265 any eq 22
[

policy-map PM-COPP
class CLASS-5SH
no police 500000 conform-action transmit

police 500000 conform-action transmit exceed-action drop

B)
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interface EQ/O
no service-policy input PM-COPP
1

interface E0/1
no service-policy input PM-COPP
1

;:onlral-pl:nt

service-policy input PM-COPP
C)
no access-list 100

access-list 100 permit tep 10.10.10.0 0.
access-list 100 permit tcp 192.168.10.0
[]

0.0.2556 any eq 22
0.0.0.255 any eq 22

interface EQO
no service-policy input PM-COPP
L]

int!rf.:ce EO0/1
no service-policy input PM-COPP
[]

;:antrol-plane
service-policy input PM-COPP

D)
no access-list 100

access-list 100 permit tcp 10.10.10.0 0.0.0.256 any eq 22
access-list 100 permittcp 192.168.10.0 0.0.0.255 any eq 22

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 269
- (Exam Topic 3)
Refer to the exhibit.
R1#sh run | s bgy
router bgp 65001
no synchronization
':';;;ii-'m.tcu:-u_; 10.100.1.50
bgp log-neighbor-changes
network 10.1.1.0 mask 255.255.255.252
network 10.1.1.12 mask 255.255.255.252
network 10.100.1.50 mask 255.256.255.255
timers bgp 20 60
neighbor R2 peer-group
neighbor R4 peer-group
neighbor 10.1.1.2 remote-as 65001
neighbor 10.1.1.2 peer-group R2
neighbor 10.1.1.14 remote-as 65001
r'i—‘.-']l'i‘.l'.','l' 10.1.1.14 peer-group R4
no auto-summary

While troubleshooting a BGP route reflector configuration, an engineer notices that reflected routes are missing from neighboring routers. Which two BGP

configurations are needed to resolve the issue? (Choose two)

. neighbor 10.1.1.14 route-reflector-client
. neighbor R2 route-reflector-client

. neighbor 10.1.1.2 allowas-in

. heighbor R4 route-reflector-client

. heighbor 10.1.1.2 route-reflector-client

mooOw>

Answer: AE

NEW QUESTION 272
- (Exam Topic 3)

An engineer must establish a connection between two CE routers for two customers with overlapping IP addresses Customer_a is connected to interfaces Gig0/0,

and Customer_b is connected to interfaces Gig0/1. Routers CE1 and CE2 are configured as follows:

ip vif customer_a

rd 1:1

route-target both 1:1
!

ip vrf customer_b

rd 2:2

route-target both 2:2
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Drag and drop the code snippets from the right onto the boxes in the configuration to establish the needed connection. Snippets may be used more than once.

CEL
interface Gigl/Ll

i wrf Farg v 8 e
ip vrf forwarding

ip address |

interface Gigl/1
ip vrf forwarding |

ip address |

CEZ
interface Gigl/0

f forwarding
ip address
interface Girgl/l
ip vrf ferwarding

ol o

p address |

A. Mastered
B. Not Mastered

Answer: A

Explanation:

nterface Gig

ip wrf :::wn:ﬂ;:q: custiomer b !
ip address | 192.168.1.2 255.255.255.0
CEd

interface Gag/0
ip vrf forwarding L _:l-l_ﬂ'l'-'“_""\-:-!_ o Jl
ip adﬁ:eaa;lqilﬁﬁleﬁdﬁﬁJﬁkn|
interface Gigl/1

ip vrf forwarding cusboener_b .

ip address| 192.168.1.2 255.255.255.0

CLISEOMMeEr 8

cuslomer b

0d.168.1.1 255.255.255.0

192.168.1.2 255.255.255.0

e

NEW QUESTION 273
- (Exam Topic 3)

'PE4 show anmp mib ifmib ifindex detail
Description ifIndex Actiwve
Loopbackl yes
FigabitEthernetl 1 VES
GigabitEthernetl 3 yes
FligablitEthernetld.123 ! Y&S
JoIP 5 YEE

-|: '!"'7-

€ YES

I"‘ }rd-.l.l.

;; l!'r;:

2 YES

Pare = ——
Fersistent

disabled
disabled
disabled
disabled
disabled
disabled
disabled
disabled
disabled
disabled

e
SAVTEQ

TrapStatus

enabled
enabled
enabled
disabled
enabled
T:L:I.t]..:'_:
enabled
aenabled
enabled

enabled

Refer to the exhibit. After reloading the router an administrator discovered that the interface utilization graphs displayed inconsistencies with their previous history

in the NMS. Which action prevents this issue from occurring after another router reload in the future?

A. Rediscover all the router interfaces through SNMP after the router is reloaded
B. Save the router configuration to startup-config before reloading the router
C. Configure SNMP to use static OIDs referring to individual router interfaces
D. Configure SNMP interface index persistence on the router

Answer: D

NEW QUESTION 275
- (Exam Topic 3)
Refer to the exhibit.
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Tunnel IP
= 192.168.1.6/24

An engineer must establish multipoint GRE tunnels between hub router R6 and branch routers R1, R2, and R3. Which configuration accomplishes this task on R1?
A)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0

tunnel source a0/1

tunnel mode gre multipoint

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.6
B)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel source e0/1

tunnel mode gre multipoint

ip nhrp network-id 1

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.1
ip nhrp map 192.168.1.2 192.1.20.2
ip nhrp map 192.168.1.3 192.1.30.3
C)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel source e0/0

tunnel mode gre multipoint

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.1

ip nhrp map 192.168.1.2 192.1.20.2
ip nhrp map 192.168.1.3 192.1.30.3

D)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel source 0/0

tunnel mode gre multipoint

ip nhrp network-id 1

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.8

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation:

We have an example of how to configure DMVPN Phase Il and we show the configuration here for your reference:
Diagram Description automatically generated

HeadQuarter
iﬁ""p‘""‘!ﬁ" T

. unnel aodross

MEMA adoress

44 44 44 4
Tunnel address P T:.-.rl"'cl m:ldcss
192 188100 1 " 152 .168.100.2
NEMA address NE::l-:n;flsr;ss
1111114 ...:-:'""‘.l-,,_.._f ;e-uc?_.-

DMVPN Phase Il — Dynamic Mapping
Text Description automatically generated
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Hub Spoke 1

nterface tunnel 1 interface tunnel 1
paddress 192.168.100.254 ip acdress 192.168,.100.1
255.255.255.0 255.255.255.0

wnnel scurce 44,44 .44.4
twnnel made gre multipoint
ponhrp network 10

tunmel source 11.11.11.1
tunnel mode gre multipeint
i nhrp netwark 1D

ip nhrp map 192,168,100, 254

44 .44 .44 .4

ip nhrp nhs 192168, 100,254

Spoke 2

interface tunnal 1

ip address 192 168,100.2
255.255.255.40

tunnel source 12,12,12.2
tunnel mode gre multipoint

ip nhrp network 10

ip g map 1921648100, 254
44 44 44 4

ip nhrp nhs 192.168.100.25%4

Note: Although Phase Il — Dynamic Mapping is “dynamic” but we still need to add a static entry for the hub because without that entry, the NHRP registration

cannot be sent.

NEW QUESTION 277
- (Exam Topic 3)

A network administrator is troubleshooting a failed AAA login issue on a Cisco Catalyst 3560 switch. When the network administrator tries to log in with SSH using
TACACS+ username and password credentials, the switch is no longer authenticating and is failing back to the local account. Which action resolves this issue?

A. Configure ip tacacs source-interface GigabitEthernet 1/1

B. Configure ip tacacs source-ip 192.168.100.55

C. Configure ip tacacs-server source-ip 192.168.100.55
D. Configure ip tacacs-server source-interface GigabitEthernet 1/1

Answer: A

NEW QUESTION 281
- (Exam Topic 3)

An engineer failed to run diagnostic commands on devices using Cisco DNA Center. Which action in Cisco DNA Center resolves the issue?

A. Enable Command Runner
B. Enable APIs

C. Enable CDP

D. Enable Secure Shell

Answer: A

NEW QUESTION 282
- (Exam Topic 3)
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\
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Refer to the exhibit. An engineer notices a connectivity problem between routers R1 and R2. The frequency of this problem is high during peak business hours.

Which action resolves the issue?

A. Increase the MTU on the interfaces that connect R1 and R2.
B. Increase the available bandwidth between R1 and R2.
C. Decrease the EIGRP keepallve and hold down timers on R1 and R2.
D. Set static EIGRP neighborship between R1 and R2.

Answer: B

NEW QUESTION 287
- (Exam Topic 3)

Which two labet distribution methods are used by routers in MPLS? (Choose two )

A. targeted hello message

B. LDP discovery hello message

C. LDP session protection message
D. downstream unsolicited

E. downstream on demand

Answer: DE

NEW QUESTION 290
- (Exam Topic 3)
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What are the two goals of micro BFD sessions? (Choose two.)

A. The high bandwidth member link of a link aggregation group must run BFD
B. Run the BFD session with 3x3 ms hello timer

C. Continuity for each member link of a link aggregation group must be verified
D. Eny member link on a link aggregation group must run BFD

E. Each member link of a link aggregation group must run BFD.

Answer: CE

Explanation:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/iproute_bfd/configuration/xe-16-8/irb-xe-16-8-book/irb-micr

NEW QUESTION 295
- (Exam Topic 3)
Refer to the exhibits.

Landon — "show ip route” output
Gateway of last resort is not ask

172.1.0.0/16 is variably subnatted, 5 subnets, 2 masks

c 172.1.11.0/24 is directly connected, Ethernatd/0

L 172.1.11.1/32 is directly connected, Ethernetd/0

c 172.1.12 . 0/24 is directly connacted, Ethernatl/1

L 172.1.12.1/732 is directly connected, Etharnetd/1

D 172.1.13.0/24 [90/76800) wim 172.1.11.2, 00:00:50, Echernet0/0
172.16.0.0/16 isa variably subnetted, B subnats, 2 masks

c 172.16.1.0/24 is directly connected, Loopback0D

L 172 .16.1.1/32 is directly connected, Ethernetd/0

C 172.16.2.0/24 is directly connected, Loopbackl

L 172.16.2.1/32 i= diriﬁ?ly connected, Loopbackl

R 172.16.3.0/24 [(120/1) wia 172.1.11.2, 00:00:08, Ethernat0/0

R 172.16.4.0/24 [120/1] wia 172.1.11.2, 00:00:08, Etharnet0/0

4] 172.16.5.0/24 [90/156160] wvia 172.1.12 .3, 00:00:50, Etharnatd/1

o 172.16.6.0/24 [90/156160] wia 172.1.12.3, 00:00:50, Ethernetd/l

Rome - "show run | section router” output

router eigrp 111
natwork 172.1.0.0
network 172 . 16.0.0
o AUto-SUmnATY

LAN Segments LAN Segments
172.16.1.0/24 172.16.3.0/24
172.16.2.0/24 172.16.4.0v24
Vit :, (1) 172.1.11.0/24 .2) :: —
-\.
edi/d 100 Mbps a0
{.1) (.2)

17T21.12.0/24 1T21.13.0024

eli0 &0/
W

(.3) ¥ (1.3)
Barcelona

LAN Segments
172.16.5.0/24
172.16.6.0/24

London must reach Rome using a faster path via EIGRP if all the links are up but it failed to take this path Which action resolves the issue?

A. Increase the bandwidth of the link between London and Barcelona

B. Use the network statement on London to inject the 172 16 X 0/24 networks into EIGRP.

C. Change the administrative distance of RIP to 150

D. Use the network statement on Rome to inject the 172 16 X 0/24 networks into EIGRP

Answer: D

NEW QUESTION 298
- (Exam Topic 3)
Refer to the exhibit.

12204 i e
Gior2 ? s

2 _,_;—'—"___'_'_ RE

!92.155.130.0#24'} Elﬂ”%-_ i3
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Which policy configuration on R1 forwards any traffic that is sourced from the 192 168 130 0'24 network to R2?
A)

access-list 1 permit 192.168.130.0 0.0.0.255
1

interface Gi0/2
ip policy route-map test
1

;ome-map test permit 10
match ip address 1
set ip next-hop 172.20.20.1

B)
access-list 1 permit 192.168.130.0 0.0.0.255
1

interface Gi0/1
ip policy route-map test
1

;'nutl--maptist permit 10
match ip address 1
set ip next-hop 172.20.40.1

C)
access-list 1 permit 192.168.130.0 0.0.0.255
]

interface Gi0/2
ip policy route-map test
]

route-map test permit 10

match ip address 1

set ip next-hop 172.20.20.2

D)

access-list 1 permit 192.168.130.0 0.0.0.255
|

l:l"!tlll'filct Gi0/1
ip policy route map test
1

fnuu—rn:p test permit 10
match ip address 1
set ip next-hop 172.20.40.2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 299
- (Exam Topic 3)
Refer to the exhibit. An engineer is trying to log in to R1 via R3 loopback address. Which action resolves the issue?

A. Add transport input SCP

B. Add transport input none

C. Remove the IPv6 traffic filter from R1, which is blocking the Telnet.
D. Remove the IPv6 traffic from R1, which is blocking the SSH

Answer: C

NEW QUESTION 300
- (Exam Topic 3)

1 -

g L
iemp-echo 192.168.2.1 source-interface GigabitEther net0/0/1
timeout 1000

threshold 1000

P ’ wqi A}
equency U

ip =la schedule 1 lite forever starttime now

Refer to the exhibit An engineer observes that every time the ICMP packet is lost at a polling interval, track 1 goes down, which causes unnecessary disruption
and instability in the network. The engineer does not want the traffic to be rerouted if the loss of ICMP packets is negligible. If the packet loss is persistent for a
longer duration, the track must go down and the traffic must be rerouted. Which action resolves the issue?

A. Change the IP SLA schedule to run only at certain intervals.
B. Increase the threshold value from 1000 to 1500.

C. Increase the timeout value from 1000 to 1500

D. Define a delay timer under track 1.
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Answer: D

NEW QUESTION 301
- (Exam Topic 3)
Refer to the exhibit.

LAN Segments LAN Segments
172.16.8.0/24 172.16.4.0/24
172.16.9.0/24 172.16.5.0/24
172.16.10.0/24 172.16.6.0/24
172.16.11.0/24 172.16.7.0/24

wn(2) OSPFArea0 (1) 5 (1) EIGRP T

o X, A o W,

e0/0 e0/0 e0/1 e0/0 .
10.1.1.0/24 10.1.2.0/24
LA Chicago NewYork

The network administrator configured the Chicago router to mutually redistribute the LA and NewYork routes with OSPF routes to be summarized as a single route

in EIGRP using the longest summary mask:

router eigrp 100

redistribute ospf 1 metric 1010101010

router ospf 1

redistribute eigrp 100 subnets

|

interface E 0/0

ip summary-address eigrp 100 172.16.0.0 255.255.0.0

After the configuration, the New York router receives all the specific LA routes but the summary route. Which set of configurations resolves the issue on the

Chicago router?
Iy interface E 0M1
ip summary-address eigrp 100 172.16.0.0 255.255.0.0

interface E 011
ip summary-address eigrp 100 172.16.8.0 255.255.252.0

router eigrp 100
summary-address 172.16.8.0 255.255.252.0

router aigrp 100
summary-address 172.16.0.0 255.255.0.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 305

- (Exam Topic 3)
Refer to the exhibit.

interface TunnelO

ip address 172.23.5.10 255.255.255.0
no ip redirects

ip mtu 1420

ip nhrp authentication C@trts8l

ip nhrp map multicast 192.168.200.1
ip nhrp map 172.23.5.1 192.168.200.1
ip nhrp network-id 10

ip nhrp holdtime 300

ip nhrp shortcut

ip ospf network broadcast

ip ospf priority 0

tunnel source 192.168.100.146

tunnel mode gre multipoint

tunnel key 100

A network engineer is adding a new spoke router into an existing DMVPN Phase 3 tunnel with a hub router to provide secure communication between sites Which

additional configuration must the engineer apply to enable the tunnel to come up?
A. ip nhrp registration no-unique

B. ip nhrp server-only non-caching

C. ip nhrp responder tunnel

D. ip nhrpnhs 172.23.5.1

Answer: D
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NEW QUESTION 307
- (Exam Topic 3)
Refer to the exhibit.

2001:D88::164 2001:088::1/64 2001:0B8:: 264 F e 2001:089: /64
™~

g

W1 R1 R2 sW2

An engineer must advertise routes into IPv6 MP-BGP and failed. Which configuration resolves the issue on R1?

A. router bgp 65000n0 bgp default ipv4-unicast address-family ipv6 multicast network 2001:DB8::/64

B. router bgp 65000n0 bgp default ipv4-unicast address-family ipv6 unicast network 2001:DB8::/64

C. router bgp 64900n0 bgp default ipv4-unicast address-family ipv6 unicast network 2001:DB8::/64

D. router bgp 64900n0 bgp default ipv4-unicast address-family ipv6 multicastneighbor 2001:DB8:7000::2 translate-update ipv6 multicast

Answer: B

NEW QUESTION 310
- (Exam Topic 3)
Refer to the exhibit.
interface loopbackl
ip address 4.4 .4 4 255 255.255.0
I
interface FastEthernet1/0
Description =** WAN link ***
ip address 10.0.0.1 255.255.255.0
I
interface FastEtherneti/
Description *** LAN Network ***
ip address 192.168.1.1 255.255.255.0
I
I
router ospf 1
router-id 4.4.4.4
log-adjacency-changes
network 4444 0000areal
network 10.0.0.1 0.0.0.0 area 0
network 192.168.1.1 0.0.0.0 area 10
I

Which set of commands restore reachability to loopback0?
A)

interface loopbackl

p address 4. 4.4 4 255 255 230
ip ospf network point-1o-p
B)

interface loopbackl

D)

irderface 1O }

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation:
We tested this config in GNS3 (except the LAN interface) but R1 loopbackO was advertised normally on R2 and R2 could reach this loopbackO.
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Note: Although the configured loopback address is 4.4.4.4/24 but by default OSPF will advertise this route to loopback0 as 4.4.4.4/32 (most specific route to that
loopback). In order to override this, we have to change the network type to point-to-point. After this OSPF will advertise the address to loopback as 4.4.4.0/24.

NEW QUESTION 315

- (Exam Topic 3)

A network administrator performed a Compact Flash Memory upgrade on a Cisco Catalyst 6509 Switch. Everything is functioning normally except SNMP, which
was configured to monitor the bandwidth of key interfaces but the interface indexes are changed. Which global configuration resolves the issue?

A. snmp-server ifindex permanent
B. snmp ifindex permanent

C. snmp-server ifindex persist

D. snmp ifindex persist

Answer: C

Explanation:

The SNMP ifIndex persistence feature provides an interface index (iflndex) value that is retained and used when the router reboots. The ifindex value is a unique
identifying number associated with a physical or logical interface. In the following example, SNMP ifindex persistence is enabled for all interfaces:

router(config)# snmp-server ifindex persist

NEW QUESTION 320
- (Exam Topic 3)
Drag and drop the IPv6 first hop security device roles from the left onto the corresponding descriptions on the right.

Receives router advertisements from valid

nost _
routers. and no router solicitation are recenved,
Recewes router solicitation and sends router
router
advertisements,
eceives valid and rogue router
Mmonitor . )
advertiserments and all router solicitation.
! Received router advertisements are trusted
switch
and are flooded to synchronize states.
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Graphical user interface, text, application, email Description automatically generated

Reference:
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/7-x/security/configuration/guide/b_Ci

NEW QUESTION 322
- (Exam Topic 3)
Refer to the exhibit.
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A customer reports that user traffic of bank XYZ to the AAA server is not using the primary path via the R3-R2 link. The network team observes:

No fiber is cut on links R2 and R3.

As101 and AS 201 routers established BGP peering. Which configuration resolves the issue?

A)

R2{config B route-map BGP-Path permit 10
R2{config-route-map 6 sat metric 200

R2 (conhg Erouter bgp 68101

R2(conbg routers naightsas 10 10,4903 route-map BGP-Path ot

B)

RB(contig Erouter Bgp 65201
Ridconhg-router #no neighbor

1010 10.5 weighn JI785

R4jconhaErouter bgp 65201 .
Rdiconfg-router #no H‘Jghbuf 101010 & ‘ﬂ‘l‘lﬂm 32769

e a
- A
i i

Riconfi Srowter bgp 5%

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 327

- (Exam Topic 3)
Refer to the exhibit.

1ef 1= neighbear 10 10.10.2

-ar g route-map BGP-Path permit 10 i
A roule mag i st |ecal-preference 200

101

2 route-map BGP-#3Th out

matching Engine 10.

erridx 0
intemet.5.3.15.1.1.4.0=3
*Sep 26 19:50:43.508: SNMP: P

TSep 26 19:50:43.504: SNMP: Packet received via LIDP from
182 168.1.2 on GigabitEthernetd/15rParseV35nmphlessage: No

SrParseV3SnmpMessage: Failed,
SrDoSnmp: authentication failure, Unknown Engine 1D

"Sep 26 19:50:43 504: SNMP: Report, reqid 29548, errstat 0,

process_mgmt_req_int: UDP packet being de-queuesd

acket sent via UDP to 192,168.1.2

Which two commands provide the administrator with the information needed to resolve the issue? (Choose two.)

A. Show snmp user

B. debug snmp engine-id
C. debug snmpv3 engine-id
D. debug snmp packet

E. showsnmpv3 user
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Answer: AD

Explanation:

There are 3 values in the SNMPv3 header that must match for the communication to take place: snmpEnginelD, snmpEngineTime, snmpEngineBoots. The error
received indicates a problem with the EnginelD value: “authentication failure, Unknown Engine ID”

To specify the Engine ID, we can use the command “show snmp user”. The following example specifies the username as abcd with Engine ID:
00000009020000000C025808:

Routerzshow snmp user abcd

User name: abcd

Engine ID: 00000009020000000C025808
storage-type: nonvolatile active access-list: 10

Rowstatus: active

Authentication Protocol: MD5
Privacy protocol: 3DES

Group name: VacmGroupName
Group name: VacmGroupName

The “debug snmp packet” command displays all SNMP packets that are arriving and being replied to.

NEW QUESTION 328

- (Exam Topic 3)

The network administrator configured CoPP so that all routing protocol traffic toward the router CPU is limited to 1 mbps. All traffic that exceeds
this limit must be dropped. The router is running BGP and OSPF Management traffic for Telnet and SSH must be limited to 500kbps.
access-list 100 permit tcp any any eq 179 access-list 100 permit tcp any any range 22 23 access-list 100 permit ospf any any

|

class-map CM-ROUTING match access-group 100 class-map CM-MGMT match access-group 100

!

policy-map PM-COPP class CM-ROUTING

police 1000000 conform-action transmit class CM-MGMT

police 500000 conform-action transmit

!

control-plane

service-policy output PM-COPP

No traffic is filtering through CoPP,which is resulting in high CPU utilization,which configuration resolves the issue ?

A. no access-list 100access-list 100 permit tcp any any eq 179 access-list 100 permit ospf any anyaccess-list 101 Permit tcp any any range 22 23!class-map CM-
MGMTno match access-group 100 match access-group 101

B. control-planeno service-policy output PM-COPP service-policy input PM-COPP

C. No access-list 100access-list 100 permit tcp any any eq 179 access-list 100 permit tcp any any range eq 22 access-list 100 permit tcp any any range eq 23
access-list 100 permit ospf any any

D. no access-list 100access-list 100 permit tcp any any eq 179 access-list 100 permit ospf any anyaccess-list 101 Permit tcp any any range 22 23!class-map CM-
MGMTno match access-group 100 match access-group 101!control-planeno service-policy output PM-COPP service-policy input PM-COPP

Answer: D

NEW QUESTION 333
- (Exam Topic 3)

4 copy flash:packages.conf ftp://192.0.2.40/
4]

Refer to the exhibit. An administrator must upload the packages conf Me to an FTP server. However, the FTP server rejected anonymous service and required
users to authenticate What are the two ways to resolve the issue? (Choose two.)

A. Use is ftp username and ip ftp password configuration commands to specify valid FTP server credentials.

B. Use the copy flash:packages.conf scp: command instead and enter the FTP server credentials when prompted.

C. Enter the FTP server credentials directly In the FTP URL using the ftp://username:passwordQ192.0.2.40/ syntax .

D. Create a user on the rooter matching the username and password on the FTP server and log in before attempting the copy
E. Use the copy flash-packages conf ftp: command instead and enter the FTP server credent-ais when prompted.

Answer: AC

NEW QUESTION 336
- (Exam Topic 3)
Refer to the exhibit.
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A network administrator is trying to switch to the privileged EXEC level on R1 but failed. Which configuration resolves the issue?

A. Enable password Cisco@123
B. tacass server enable-password Cisco@123
C. tacacs-server enable-password Cisco@123
D. enable-password Cisco@123

Answer: D

NEW QUESTION 341
- (Exam Topic 3)

I-l:-l:-l_ 'f"'; 5‘ I.J..'_i-:- )

Riesh run | section eigrp
router eigrp 10

naertWwark 10.10.10.0 0.0.0.255

no aAUTd=sUrmary

neighbor 10.10.10.2 FastEthernetl/0
:“..E".i.f._[:"‘.:“.‘l'f"r 10.10.10.3 FastEthernecl/0
H

Blfshow ip eigrp neighbors
IP-EIGRF neighbors for process 10

H hddress Interface

Sag

Num

1 10,10.10.2 Fad/fo
10.10.10.3 Fal/sO

Refer to the exhibit The remote branch locations have a static neighbor relationship configured to R1 only R1 has successful neighbor relationships with the

remote locations of R2 and R3, but the end users cannot communicate with each other. Which configuration resolves the issue’

R2

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.2 256.255.255.0

R3

Interface FastEthernet0/0.10
encapsulation dotiQ

ip address 10.10.10.3 255.255.255.0

R2

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.2 255.256.265.0

R3

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.3 255.255.255.0

R2

interface FastEthernet0/0.10
encapsulation dot1Q 10

ip address 10.10.10.2 2565.266.265.0

R3

interface FastEthernet0/0.10
encapsulation dot1Q 10

ip address 10.10.10.3 265.2556.265.0

RZ and R3
interface FastEthernetd/
no ip split-horizon igrp 10

R1
interface FastEthernet/l
no ip split-horizon eigrp 10

A. Option A
B. Option B
C. Option C
D. Option D
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E. Option E

Answer: E

NEW QUESTION 344
- (Exam Topic 3)

hS1MD’
{10) = A (10)

.
Internet Cloud

192.168.101.0/24

AS100 (1) /

A
5P {fﬂ_

(N,

&

AS 111
EO00N "~ 2~ E 0N

(1) RS ()
Customer Edge

192.168.102.0v24

™ (2) AS 200
V.
I\E R_,.I IEP‘E

/2

192.1&3.11.&:2\ Ama.'lz.wm

ISP-1

i
router bop 100

ip as-path access-list 1 permit “111

neighbor 192.168.101.10 remgte-as 1000
neighber 192.168.11.111 rem&te-as 111
neighbor 192.168.11.111 filter-list 1 in

Refer to the exhibit. AS 111 mut not be used as a transit AS, but ISP-1 is getting ISP-2 routes from AS 111. Which configuration stops Customer AS from being

used as a transit path on ISP-1?

A. ip as-path access-list 1 permit *$

B. ip as-path access-list 1 permit_111
C. ip as-path access-list 1 permit."

D. ip as-path access-list 1 permit 7111$

Answer: A

NEW QUESTION 348
- (Exam Topic 3)

Status

a o . OV3PFF g dbvoers

B 5
) I'.II'. - DNA il L&' ¥ FROWIION EY ALIEA
ClRE

OSPF Adjacency Failed on Device " 10.30.255.101" Interface
TenGigabitEthernet1/0/23 with Neighbor 10.30.255.2

Refer to the exhibit. An engineer is investigating an OSPF issue reported by the Cisco DNA Assurance Center. Which action resolves the issue?

A. One of the neighbor links is down Bring the interface up by running shut and no shut

B. One of the interfaces is using the wrong MTU Match interface MTU on both links

C. An ACL entry blocking multicast on the interfaces Allow multicast through the interface ACL

D. One of the interfaces is using the wrong authentication Match interface authentication on both links

Answer: B

NEW QUESTION 349
- (Exam Topic 3)
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FEltshow ip route ospf

Refer to the exhibit. An engineer configured two ASBRs, 10.4.17.6 and 10.4.15.5, in an OSPF network to redistribute identical routes from BGR However, only
prefixes from 10.4.17.6 are installed into the routing table on R1. Which action must the engineer take to achieve load sharing for the BGP-originated prefixes?

A. The ASBRs are advertising the redistributed prefixes with the iBGP metric and must be modified to Type 1 on ASBR 10.4.17.6.

B. The ASBRs are advertising the redistributed prefixes with a different admin distance and must be changed to 110 on ASBR 10.4.15.5.
C. The admin distance of the prefixes must be adjusted to 20 on ASBR 10.4.15.5 to advertise prefixes to R1 identically from both ASBRs.
D. The ASBRs are advertising the redistributed prefixes as Type 1 and must be modified to Type 2

Answer: D

NEW QUESTION 351
- (Exam Topic 3)
Refer to the exhibit.

i ! mhipow NEp AROCiAElons

f dabug 1p LCOW

An administrator is troubleshooting a time synchronization problem for the router time to another Cisco 10S XE-based device that has recently undergone
hardening. Which action resolves the issue?

A. Allow NTP in the ingress ACL on 10.1.225.40 by permitting UDP destined to port 123.

B. Ensure that he CPE router has a valid route to 10.1.255. 40 for NTP and rectify if not reachable.
C. NTP service is disabled and must be enabled on 10.1.225.40.

D. Allow NTP in the ingress ACL on 10.1.255.40 by permitting TCP destined to port 123.

Answer: C

NEW QUESTION 356

- (Exam Topic 3)

What is a MPLS PHP label operation?

A. Downstream node signals to remove the label.

B. It improves P router performance by not performing multiple label lookup.

C. It uses implicit-NULL for traffic congestion from source to destination forwarding
D. PE removes the outer label before sending to the P router.

Answer: A

NEW QUESTION 359
- (Exam Topic 3)
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SW100§sh ip bgp ipwé uni summ
BGP router identifier 100.0,0.1, local AS number 100
BGP table versicn is 1, main routing table versicm 1
Helghbar v AS MsgBeovd MsgSent ThiVer InQ OutQ Up/Down Stake/PExRod
2001 -ABC:ARBR:1100:1122:1111; 2222 AN
4 L] ] 5 1 1] 0 00:00:58 ]
SW100§sh ip bgp ipwé unicast
SWLO0§
Rl#sh ip bgp ipvé uni
BGF table version is 4, local router ID ism 1.1.1.1
Hetwark Hext Hop Metric LocPrf Weight Path
* 4 2001l::4 /128 2001: :4 0 100 0 300 &
w»i 2002::2/128 2001::2 L 100 0i
Rld
Rlish ipvé route
0 2001::2/128 [11041)
via FEBO::5200:C3FF:FE0L.E600, GigabitEthernet0/0
B 2002::3/128 [200/0]
via 2001::2

Refer to the exhibit SW100 cannot receive routes from R1 Which configuration resolves the issue?

SR
router bgp 100
address-family ipvE
neighbor 2001::2 route-reflector-client
neighbor 2001:ABC.AABB:1100:1122:1111:2222. AAA2 route-reflector-client

R2
router bgp 100
address-family ipvé
neighbor 2001::2
nelghbor 2001::1 next-hop-self

R1
router bgp 100
address-family ipvE
neighbaor 2001::2 route-reflector-client
neighbor 2001:ABCAABB:1100:1122: 11112222 AAAZ route-reflector-cliem

R2

router bgp 100

address-family ipve
neighbor 2001:.2
neighbor 2001::1 as-override

R1

router bgp 100
address-family ipvé
na synchronization

R2

router bgp 100
address-family ipve
no synchronization

SW100

router bgp 100
address-family ipve
no synchronization

R1

router bgp 100
address-family ipvé
redistribute connected

R2

router bgp 100
address-family ipvE
redistribute connected

A. Option A
B. Option B
C. Option C
D. Option C

Answer: A
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NEW QUESTION 362
- (Exam Topic 3)
Which router translates the customer routing information into VPNv4 routes to exchange VPNv4 routes with other devices through MP-BGP?

NEW QUESTION 365
- (Exam Topic 3)

R5#

Sep 19 08:29:51.088: BGP: 10.10.10.2 cpen active, local address 10.0.0.14
“Sep 19 08:29:51.120: BGP: 10.10.10.2 read request no-op

*Sep 19 06:29:51.124: BGP: 10.10.10.2 open failed: Connsction refused by
remote host, cpen active delayed 12588ms (20000ms max, 60% jitter)

R2#show ip bgp neighbors 10.10.10.5
BOP neighbor is 10.10.10.5, remcote AS 65101, internal link
BGF version 4, remotae router ID 0.0.0.0
BGF state = Aotive
Last read 00:01:18, last write 00:01:18, hold time is 15, kespalive
interval iz 3 seconds
Configured hold time is 135, keepalive interval is 3 seconds
Minimym holdtime from peighbor is 0 seconds
Address tracking is enabled, the RIBE does have a route to 10.10.10.3
Connections satablished 13; dropped 13
Last reset 00:01:18, dus to User resst
Transport(tcp) path-mtu-discovery i3 enablad
Ho active TCP connection

ik .

OSPF —  Site¥ 0SPE

-
v

5 6

172.16.26.1
10.0.0.4/30 ~ "

10.10.10.2 1p, * 10.10.10.4
u.ﬁ""“ 1 1010103 %.8/3

y) y 40
10.10.10.1 ﬂ.'% 10.10.10.5 10.10.10.6 ujﬁ‘ o
- =+ ~ 'D-
f‘}‘h 17 18 30
10.0.0.16/30 “ o
=
172.16.16.1
Site & L = BGP Peers
BGP 65101 BGP 65201

Refer to the exhibit A customer reported a failure and intermittent disconnection between two office buildings site X and site Y The network team finds that site X
and site Y are exchanging email application traffic with the data center network Which configuration resolves the issue between site X and site Y?
A)

RC({config)= ip prefix-list Customer seq § permit 192.168.30.1/32

B)

RC(config=router bgp 65101

RC(config-router)# neighbor 10.0.0.18 prefix-list Customer in
C)

RF(config)#no ip prefix-list Customer seq 5 deny 192.168.1.1/32

D)

RF(config)#router bgp 65201
RF(confio-router ' neiahbor 10.0.0.17 orefix-list Customer out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 369

- (Exam Topic 3)

Users report issues with reachability between areas as soon as an engineer configured summary routes between areas in a multiple area OSPF autonomous

system. Which action resolves the issue?

A. Configure the summary-address command on the ASBR.

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 300-410 dumps

@ 2 P QsseaqQs ":J https://www.2passeasy.com/dumps/300-410/ (530 New Questions)

B. Configure the summary-address command on the ABR.
C. Configure the area range command on the ABR.

D. Configure the area range command on the ASBR.
Answer: C

Explanation:

For OSPF, we can only summary at the ABR with the command “area range” or at the ASBR with the
command “summary-address” -> Therefore answer A and answer B are not correct.

In this question, the most likely problem is that when doing summarization, the network mask is configured wrong and summarization doesn’t work because of the
misconfiguration. When configuring the area range command, make sure that the summarization mask is in the form of a prefix mask rather than a wildcard mask

(that is, 255.255.255.0 instead of 0.0.0.255).

Good reference: https://www.configrouter.com/troubleshooting-route-summarization-ospf-14082/

NEW QUESTION 371
- (Exam Topic 3)
Refer to the exhibit.

kl# show ip cspf database self-originate

MOGEF-=FLOOD WAR: Procasa 1 flushes

1 Ir\

After configuring OSPF in R1, some external destinations in the network became unreachable. Which action resolves the issue?

A. Clear the OSPF process on R1 to flush stale LSAs sent by other routers.

B. Change the R1 router ID from 10.255.255.1 to a unique value and clear the process.
C. Increase the SPF delay interval on R1 to synchronize routes.

D. Disconnect the router with the OSPF router ID 0.0.0.0 from the network.

Answer: B

NEW QUESTION 374
- (Exam Topic 3)

RS

[

Area OSPF Area 0
Cost40 R1 st 10
3: 0s o Cost 10
R4 . Tt
Cost 40 10.10.10.0/24 Cost 40
R2
R3 ™ o~ Cost 40 R P Cast 10
T e o W
10.10.20.0/24

L

Cost 10

Refer to the exhibit Which action ensures that 10 10 10 0/24 reaches 10 10 20 0/24 through the direct link between R1 and R2?

A. Configure R1 and R2 LAN links as nonpassive.

B. Configure R1 and R2 links under area 1

C. Configure OSPF link cost to 1 between R1 and R2
D. Configure OSPF path cost to 3 between R1 and R2

Answer: B

NEW QUESTION 378
- (Exam Topic 3)
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An engineer configures PBR on R5 and wants to create a policy that matches traffic destined toward 10.10.10.0/24 and forward 10.1.1.1. The traffic must also
have its IP precedence set to 5.All other traffic should be forward toward 10.1.1.2 and have its IP precedence set to 0.Which configuration meets the

requirements?

A. access-list 1 permit 10.10.10.0 0.0.0.255 access-list 2 permit anyroute-map CCNP permit 10 match ip address 1set ip next-hop 10.1.1.1 set ip precedence

5!route-map CCNP permit 20 match ip address 2set ip next-hop 10.1.1.2set ip precedence Oroute-map CCNP permit 30

B. access-list 100 permit ip any 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 100 set ip next-hop 10.1.1.1 set ip precedence O!route-map

CCNP permit 20 set ip next-hop 10.1.1.2set ip precedence 5!route-map CCNP permit 30

C. access-list 1 permit 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 1set ip next-hop 10.1.1.1 set ip precedence 5!route-map CCNP permit 20

set ip next-hop 10.1.1.2set ip precedence 0

D. access-list 100 permit ip any 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 100 set ip next-hop 10.1.1.1 set ip precedence 5!route-map

CCNP permit 20 set ip next-hop 10.1.1.2set ip precedence 0

Answer: D

NEW QUESTION 381
- (Exam Topic 3)

& 5 oy B A @ P - A = o 4 = s mak! ad
d . Jw by sEVE & 3 E W &akdl s &l o b H 3

T P . - T < m MIing - AT = %
Vb o mw sE¥ea WEWWidasigy ¥V mkAddRNGEd awlifys

2y P
-

Refer to the exhibit. A network engineer lost remote access to the router due to a network problem. The engineer used the console to access the router and
noticed continuous logs on the console terminal. Which configuration limits the number of log messages on the console to critical and higher seventy level

messages?

A. term no monitor

B. logging console 2
C. no logging console
D. logging console 5
Answer: D

NEW QUESTION 382
- (Exam Topic 3)
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Lijdh'[}-kkrﬂr-: 15 up, line froTIRTT TS D
Internet Address 170.16.1.42/30, Interface ID B, Area 1
attached via wetwork statement
process 10 1, Router 10 1/2.16,100,7, wetwork Type BROADCAST, Cost: |
Topology-MTID  Cost  Disabled  Shutdowr Topology Name
\ ] M no Aase
Transmit Delay 15 1 sec, State DR, Priority 1
Designated Router (I0) 172.16,100.7, Interface adoress 172.16,1.42
Backup Designated router (I0) 1/2.16.100.5, Imterface adoress 172.16.1.41
Timer Intervals 1-1'?‘15.'1';1. kello 10, Dead 40, walt 40, Retransmit §
nob-resyne tiseout 40
Hello due Tn 00:00:01

Neighbor Count 15 1, Adjacent neighbor count 13 1
agjacent with nefghbor 172.16,100.5 (Backup Designated Router)
Suppress hello for O neighbor(s)
Cryptographic authentication enabled
cending Sa: key 1, algorithe tMAC-SHA-25%6 - key chain ospf
Rollover in progress, 1 neighbor(s) using the old key(s):
key 1d 1 algorithe mp§
CSR103e
CSRL03r
(5a103esh 1p ospf nei

seighbor 1D Pri  Srate Dead Time  address Interface
172.16.100.3 I FuLL. om 00:00:30 172.16.1.25 GigabitEthernetd
172.16.100.5 1 FuLL,/ 8Dk 0:00:16  172.16.1.41 Gigabitethernet?
CSRL03e

Cori0ir

Jan 11 16:49:35%, 311 NSYS=-0-LOGOUT: User acmin has exited tty sesslom 1(10.218.200.21%0)

Jan 11 16:49:45,396: %05PF-5-ADICHG: Process 1, Nbr 172,16.100.5 on cigabltethernet? fros
FULL to DOWN, Neighbor Down: Dead timer expired

Refer to the exhibit. Which configuration resolves the issue?
A)

router ospf 1
area 1 authentication message-digest

int GigabitEthernet 2
ip ospf message-digest-key 1 md5 cisco

B)

int GigabitEthernet 2

ip ospf message-digest-key 1 md5 cisco

ip ospf authentication message-digest
C)

int GigabitEthernet 2
ip ospf key 1 cisco
ip ospf authentication

D)
key chain ospf
key 1
key-string 7 02050D480809
cryptographic-algorithm hmac-sha-1
interface GigabitEthernet2
ip ospf authentication key-chain ospf

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 384
- (Exam Topic 3)
Refer to the exhibit.

Tunnel source 195.1.1.1, destination 200.1.1.3
Tunnel protocol/transport GRE/IP

Key disabled, sequencing disabled
Checksumming of packets disabled
Tunnel TTL 255, Fast tunneling enabled
Tunnel transport MTU 1476 bytes
Tunnel transmit bandwidth 8000 (kbps)
Tunnel receive bandwidth 8000 (kbps)
An engineer must establish a point-to-point GRE VPN between R1 and the remote site. Which configuration accomplishes the task for the remote site?
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A. Interface Tunnell tunnel source 199.1.1.1tunnel destination 200.1.1.3ip address 192.168.1.3 255.255.255.0
B. Interface Tunnell tunnel source 200.1.1.3tunnel destination 199.1.1.1ip address 192.168.1.1.255.255.255.0
C. Interface Tunnell tunnel source 200.1.1.3tunnel destination 199.1.1.1ip address 192.168.1.3.255.255.255.0
D. Interface Tunnel lunnel source 199.1.1.1tunnel destination 200.1.1.3ip address 192.168.1.1.255.255.255.0

Answer: C
NEW QUESTION 386

- (Exam Topic 3)
Refer to the Exhibit.

10 10 200,30 10040 10 0730
R24 3§
router elgep 100 router eligep 100
network 10.10.10.0 0.0.0.3 network 10.10.10.0 0.0.0.3
network 10.20.10.0 0.0.0.3 network 10.10.20.0 0.0.0.3
I network 1.1.1.1 0.0.0.0
couter ospf 100 1
network 10.10.10.0 0.0.0.3 area 0 routar ospf 100
network 10.20.10.0 0.0.0.3 area 0 natwork 10.10.10.0 0.0.0.3 area 0
! network 10.10.20.0 0.0.0.3 area 0
] i
i router bgp 200
router bgp 100 distance 100 10.10.10.0 0.0.0.3
distance 100 10.20.10.0 0.0.0.3 distance 100 10.20.10.0 0.0,0.3
distance 100 10.10.10.0 0.0.0.3 neighbor 2.2.2.2 remote-as 100
neighbor 1.1.1.,1 zemotea-ap 200 nelghbor 10.10.10.2 remcte-as 100
neighbor 10.10.10.1 remote-as 200 natwork 10.10.10.0 mask 255.255.255. 252

natwork 10.20.10 0 mask 255 255 255.252 natwork 10.20_10.0 =mask 255 255 255 252

R1 and R2 use IGP protocol to route traffic between AS 100 and AS 200 despite being configured to use BGP. Which action resolves the issue and ensures the

use of BGP?

A. Configure distance to 100 under the EIGRP process of R1 and R2.
B. Remove distance commands under BGP AS 100 and AS 200.

C. Remove distance commands under BGP AS 100.

D. Configure distance to 100 under the OSPF process of R1 and R2

Answer: B

NEW QUESTION 387
- (Exam Topic 3)
Refer to the exhibit.

|

g Area @
@
| L8 008

'l
Area 234 Area 150
5
C0) g pa.namyza  (-8) ) e as.eia -
[ H—'-e_——"a— —
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ABR Configurations
RZ R4
router ospl 1 router ospf 1
router-id 0.0.0.22 router-id 0.0.0 44
area 234 virtual-ink 10.34 34 4 Bres 234 vitua-ink 102323 2
natwork 10.0.0.0 0.0.0.255 area 0 network 1034 34 0 0.0.0 255 aren 234
notwork 102 2.0 0.0.0 255 aren O network 1044 44 0 0.0 0 255 aea 234
network 10.22 22 0 6.0.0 255 ares 234 niehwark 10.45.45 0 0.0.0.255 area 250

network 10 23 230 0 0.0.265 area 234

___ Vinual Link Status
R2 -> sh ip ospf virtual-links
Virtual Link OSPF_VLO 1o router 10.34.34.4 is down
Run as demand circurt
DoNotAge LSA allowed.
Transit area 234
Topology-MTID Caost Disabled Shutdown  Topology Name
0 65535 no no Base

Transmit Delay is 1 sec, State DOWN,

The network administrator configured the network to connect two disjointed networks and ail the connectivity is up except the virtual link which causes area 250 to
be unreachable. Which two configurations resolve this issue? (Choose two.)

A. R2router ospf lrouter-id 10.23.23.2

B. R2router ospf 1no area area 234 virtual-link 10.34.34.4area 0 virtual-link 0.0.0.44
C. R4router ospf 1no area 234 virtual-link 10.23.23.2area 234 virtual-link 0.0.0.22
D. R2router ospf 1no area 234 virtual-link 10.34.34.4area 234 virtual-link 0.0.0.44
E. R4router ospf 1no area area 234 virtual-link 10.23.23.2area 0 virtual-link 0.0.0.22

Answer: CD

Explanation:

Reference: https://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/13703-8.html An important thing to remember when configuring virtual-link
is we need to configure the OSPF router ID and NOT the IP address of the ABR. Therefore in this question we have to use the command “area 234 virtual-link
0.0.0.44” on R2 and “area 234 virtual-link 0.0.0.22” on R4.

NEW QUESTION 391
- (Exam Topic 3)
Refer to the exhibit.

Ailshew Lp poule

LO.G.8 3T by submetied, 1 subnsts

C LAWY ke Sirestly connacted, lesphackd

T.0.0.0/02 Ly wubnetisd, 1 subneta

|¥h ©2.3.2.250 1IRFE) via 10.10,10.2, ROiRRcE, GloaniiEibernetDiOof0
3 18.9.0.5/8 Ly wariahly submstted, 7 subnets, I masks

£ L9 18 100700 18 directly connected, Glgablirthecsetd 800

Ll L0l ESET o8 dirpenCly connactsd, OlgabltECEsemeto oo

LR 0.0000 Gr dipestly connecisd, GlgabltItiecsetll0f]

LOLe LSRRI ke dirsckly connsciad, OlgabltTbRsesatd 0/ 1

B8 2018 0000 [BOFIOTE] wia 10,180,102, 0%:0F- . GigabitEthernet0/0/0
B L B Lb 030 |50F332B] via 10.10.10.3, 02:0%:48, d@iganytEthernstlf0/0
& LA i0.0/ 3 [370] wis 10.10.30.2

Routers R1, R2, R3, and R4 use EIGRP However, traffic always prefers R1 to R5 backup links in nonfailure scenarios. Which configuration resolves the issue?
A)

R1(config)#no lp route 10.40.10.0 255.255.255.252 10.10.20.2
R 1(config)#&ip route 0.0.0.0 0.0.0.0 10.10.10.2

B)

R1(config#int gigabltEthernet 0/0/0

R1(config-if @Wbandwidth 10000000

C)

R1i(config)s#no ip route 10.40.10.0 255.255.255.252 10.10.20.2
R1{config)mip route 10.40.10.0 255.255.255.252 10.10.20.2 115
D)

R1i{config)=int gigabitEthernet 0/0/0

R1(config-if #bandwidth 10000

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 395

- (Exam Topic 3)
Drag and drop the descriptions from the left onto the corresponding MPLS components on the right.
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

Table Description automatically generated

NEW QUESTION 398
- (Exam Topic 3)
Refer to the exhibit.

FEC rauters in the core of the provider netwaork known as P routers
LSP all traffic to be forvarded using the same path and same label
] routers that connect to the custamer routers kndwn as PE
' gutars
ca used far exchanging label mapping infarmation betwesn MPLS
' enabled rauters
L= path alandg which the traffic o acress an MPLS nebinark

! VIANLG VLANLO
i
UserPc & _Floor_SW1

6_Floor_SW1n
[
interface VLANIG
ip address 10.221.46.1 255.255.255.0
[

Ly ls

]
E—
E——

DHCP Servar
10.221.10.10

Users in VLAN46 cannot get the IP from the DHCP server. Assume that all the parameters are configured properly in VLAN 10 and on the DHCP server Which

command on interlace VLAN46 allows users to receive IP from the DHCP server?

A. ip dhcp-addreos 10.221.10.10
B. ip dhcp server 10.221.10.10

C. ip helper-addrets 10.221.10.10
D. ip dhcp relay information trust-all

Answer: C

NEW QUESTION 401
- (Exam Topic 3)
What is an advantage of implementing BFD?

A. BFD provides faster updates for any flapping route.

B. BFD provides millisecond failure detection

C. BFD is deployed without the need to run any routing protocol
D. BFD provides better capabilities to maintain the routing table

Answer: B
NEW QUESTION 403

- (Exam Topic 3)
Refer to the exhibit.

10.1.1.0/24 10.1.3.0/24
10.1.2.0/24
{.3)
| eli0
1) .
[ u e
e
ASBR3
ASBR1 atio] -2)
“u M
UL
ASBR2
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RR Configuration:

reuter bgp 100

neighbor IBGP peer-group
neighbor IBGP route-reflector-client
neighbor 10.1.1.1 remote-as 100
neighbor 10.1.2.2 remote-as 100
neighbor 10.1.3.3 remote-as 100

The network administrator configured the network to establish connectivity between all devices and notices that the ASBRs do not have routes for each other.

Which set of configurations resolves this issue?

* router bgp 100
neighbor 10.1.1.1 next-hop-self
neighbor 10.1.2.2 next-hop-self
neighbor 10.1.3.3 next-hop-self

router bgp 100
neighbor IBGP update-source Loopback0

router bgp 100
neighbor IBGP next-hop-self

router bgp 100

naighbor 10.1.1.1 peer-group IBGP
neighbor 10.1.2.2 peer-group IBGP
neighbor 10.1.3.3 peer-group IBGP

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 405
- (Exam Topic 3)

R2#show policy-map control-plane
Control Plane
Service-policy inpul. CoPP
Class-map. S5H (malch-all)
29 packets, 2215 bytes
5 minute offered rate 0000 bps
Match access-group 100

Class-map: ANY (match-all)
46 packets, 3878 bytes
5 minute offered rate 0000 bps, drop rale 0000 bps
Match' access-group 199
drop

Class-map. class-defaull (match-any)
41 packets, 5687 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps
Match: any

R2Eshow access-list 100
Extended IP access list 100
10 deny tcp any any eq 22 (14 matches)

R2#&show access-list 199
Extended IP access list 199
10 permit ip any any (51 matches)

20 permit tcp host 192 168,12 1 any eq 22 (29 matches)

Refer to the exhibit. Which action limits the access to R2 from 192.168.12.17

A. Swap sequence 10 with sequence 20 in access-list 100.

B. Modify sequence 20 to permit tcp host 192.168.12.1 eq 22 any to access-list 100
C. Swap sequence 20 with sequence 10 in access-list 100

D. Modify sequence 10 to deny tcp any eq 22 any to access-list 100.

Answer: C

NEW QUESTION 407
- (Exam Topic 3)
Refer to the exhibit.
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ipve dhep server:

ipvE unicast-routing

!

int e(y]

ipve enable

ipve add 2001:11::1/64
ipvt nd other-config-flag
na shut

ipve dhcp server IPvEPool
!

ipve dhcp pool IPvEPool
dns-server 2002:555:11

demain-narme my.nel

ipvé dhep client:

interface Ethernet0y/1
no ip address

ipvE address dhcp
ipvE enable
no shut
ipvt dhop client ipvt dhep server
R2 |

A network administrator is troubleshooting IPv6 address assignment for a DHCP client that is not getting an IPv6 address from the server.
Which configuration retrieves the client IPv6 address from the DHCP server?

A. ipv6 address autoconfig command on the interface

B. ipv6 dhcp server automatic command on DHCP server
C. ipv6 dhcp relay-agent command on the interface

D. service dhcp command on DHCP server

Answer: A

NEW QUESTION 408
- (Exam Topic 3)

17216.222 254

/ Loopbackd??

H’" ""‘C- -eulub'l_}'r—-—d:ﬂ-;'lar;.ﬂ;_—i;ﬂ ;teu 0 p—{Gi0"

& B
B L

192.168.100.1/24

Refer to the exhibit R2 can reach Loopback222, but R1 SW1 and PC1 cannot communicate with 172.16.222 254 R1 and R2 configurations are shown here

P R iy

R1#show run | sec router eigrp
router eigrp VR1
]

address-family ipv4 unicast autonomous-system 1
I

topology base
exit-af-topology

network 172.16.1.1 0.0.0.0
network 192.168.100.0
network 192.168.200.0
network 192.168.255.91 0.0.0.0
exit-address-family

R2(config #*do show run | sec router eigrp
router eigrp 1

network 172.16.1.2 0.0.0.0

network 172.16.222.0 0.0.0.255

network 192.168.222.254 0.0.0.0

Which EIGRP configuration command resolves the issue?

A. R2(config-router) # redistribute static

B. R1(conftg-router)# network 172.16.222.254 0.0.0.0

C. R1 (config-router)# network 172.16.222.264 255.255.255.255
D. R1(config-router)# redistribute static

Answer: A

NEW QUESTION 409
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- (Exam Topic 3)
Refer to the exhibit.

FEOELOL

EIGRP
AST00

A loop occurs between R1, R2, and R3 while EIGRP is run with poison reverse enabled. Which action prevents the loop between R1, R2, and R3?

A. Configure route tagging
B. Enable split horizon

C. Configure R2 as stub receive-only

D. Configure route filtering

Answer: B

NEW QUESTION 411
- (Exam Topic 3)

o w.us.zm:mu

o W i

I

209,185.201.2/30
1060, 50,6 BB

REEshow ip sk respander
Genesal 1P SLA Besponder anCanral pact 1967
Giengdal P 5LA Bespender onCoantrol W2 part 1167
General PALA Resporder i Disabled

Penrranent Port 1P SLA Rosponder |
Parmamend Fort IP SUE Besponder is: Disalbled

f__-“_“u..‘_ E)/L
AN, TR W
sf_ﬁﬂ‘-h

e A L65.000.6/30

Elfping 106060 &
T REZg SEGUENLE T3 abark
Sending %, 100-byte ICMP Echos 1o 10 60,606, imeout
{118

Success rate is 100 percent [5/5], round-trip min/avg/ma = 111 ms

i I secands:

[AL]

ip sty BEO

udp-plier 1OS0.GO.6 L6384 coder g7 293 codec-sze 10
bors LA4

irequesty 5

i 5L sEhidulie G50 IRE fodower SEATT-1ima Nt

R1ashow ip ¥a
BFELAL Latest Ope rataor Suvmary
Cizdag:  actie, * mattwe, = pnding

imi}  Cpde W

an

i} Type Deitnabion Skl Betum  Lad

*Bs0 udp-jinee 10.60EQG - Mo itk 32 sconsd o

-]

Refer to the exhibit. Which configuration resolves the IP SLA issue from R1 to the server?

A. R6(config)#ip sla responder

B. R6(config)#ip sla responder udp-echo ipaddress 10.60.60.6 po 5000
C. R6(config)#ip sla 650 R6(config-ip-sla)ff udp-jitter 10.60.60.6
D. R6(config)#ip sla schedule 10 life forever start-time now

Answer: A

NEW QUESTION 412
- (Exam Topic 3)
Refer to the exhibit.
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Internet

G2/0  192.168.2.0/30 g

Intranet
webserver

The branch router is configured with a default route toward the internet and has no routes configured for the HQ site that is connected through interface G2/0. The

HQ router is fully configured and does not require changes. Which configuration on the branch router makes the intranet website (TCP port 80) available to the
branch office users?

A)

access-iist 100 permnt tcp any host intranet-webserver-ip eq 80

route-map por permit 10
match 1p address 100
set ip next-hop 192.168.2.2

nterface G2/0
P policy route-map pbr

B)

access-list 101 permit tcp any any eq 80
access-hist 102 permit tep any host intranet-webserver-ip

route-map pbr permmt 10
match 1p address 101 102
et 1p next-hop 192.168.2.2

nterface G1/0
g policy route-map pbr

C)

access-ist 101 permit tcp any any eq 80
iccess-ist 102 permit tcp any host intranet-webserver-ip

route-map pbr permit 10
match p address 101

set Ip next-hop 192 168.2.2
route-map pbr permit 20
match ip address 102

et Ip next-hop 192.168.2.2

mterface G2J0
2 oolicy route-map pbr

D)

iccess-ist 100 permit tep host intranet-webserver-p eq 80 any
Jie-map pbr permit 10

natch p address 100

®! D Next-nop 192 168 2.2

e v

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
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Explanation:

the ACL 101 matches all HTTP pakects while the ACL 102 matches TCP packets destined to Intranet webserver. These packets will be sent to HQ router.
If a match command refers to several objects in one command, either of them should match

(the logical OR algorithm is applied). For example, in the match ip address 101 102 command, a

route is permitted if it is permitted by access list 101 or access list 102.

NEW QUESTION 417
- (Exam Topic 3)
Exhibit.

R2§ show ip eigrp topology 10.1.3.0 255.255.255.0

IP-EIGRF (AS 1) : topology sntry for 10.1.3.0/24
State is Fassive, Query origin flag is 1, 1 Successor(s), FD is 307200
Routing Descriptor Blocks:
10.1.2.3 (Etharnetd), from 10.1.2.3, Sand flag is Ox0
Compoaite metric is (307200/281600), Routs i3 Intarnal
Vector matric
Minimum bandwidth is 10000 Kbit
Total delay is 2000 microseconds
Reliability is 255/255
Load is 1/255
Miniswus MTU is 1500
Hop count 13 1
10.1.2. 4 (Ethernetl), from 10.1.2.4, Send flag is OxD
Composite metric is (312320/286720), Routs i3 Internal
Vector matric
Mini=u=m bandwidth is 10000 Kbit
Total delay is 2200 microsesconds
Reliability is 255/255
Load is 1/255
Minisum MTU is 1500
Hop count is 1
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Refer to the exhibit. A network is configured for EIGRP equal-cost load balancing, but the traffic destined to
the servers is not load balanced. Link metrics from router R2 to R3 and R4 are the same. Which delay value must be configured to resolve the issue?

A. 208 oon R3 E0/0
B. 120 on R4 EO/1
C. 120/on R3 EO/1
D. 2200 on R4 EO/1

Answer: C

NEW QUESTION 420
- (Exam Topic 3)
Which router attaches the VPN label to incoming packets from CE routing?

A. CE router
B. core router
C. P router
D. PE router

Answer: D

NEW QUESTION 422
- (Exam Topic 3)

Customer A OSPF Network

R1

OSPFv2 Area OSPR2 Area

S TS

Refer to the exhibit
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An engineer must ensure that R3 sees only type 1 and 2 LSAs in area 1.
Which command must the engineer apply on R2?

A. Area 1 stub nssa

B. Area 1nssa no-summary
C. Area a stub no-summary
D. Area 1 stub

Answer: C

NEW QUESTION 426
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